Test Date 30/03/2024

Test Time 2:00 PM - 5:00 PM

Subject 215 Planning Assistant UD and UHD

Applicant Photo

Exam-Day Photo

Section : Part A - Reasoning, Data Interpretation, Quantitative Aptitude

Q.1

Ans

v 1yl €lsil)
X2 Yldl
X3 0 dq
X4 o1e

o) [l (Elyetl Uldetl WSHIA YAl wistoll arilld 218 9] Hoedd &2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653111
6306802556882
6306802556884
6306802556883
6306802556885
Answered

2




Q2 il 4ol A tet, B @19 USd 14 el w1d 3, Aot iuiell 56 18] A2 2006l Yad(da AnL B2

169:125
Ans p1121: 27
X2 125: 21
X3 85:123
X 4.190: 281
Question ID : 630680686175
Option 11D : 6306802687348
Option 2 ID : 6306802687349
Option 3 ID : 6306802687347
Option 4 ID : 6306802687346
Status : Answered
Chosen Option : 1
Q.3 . . -
of [ 1Hie]] s [ased {12 w4108 wLs(d U] Us RiEs] 20l 8912
X. 1. 2. 2
Ans s 1. 4
X2 2
X 3.1
X4 3
Question ID : 630680653120
Option 1 ID : 6306802556921
Option 2 ID : 6306802556919
Option 3 ID : 6306802556918
Option 4 ID : 6306802556920
Status : Answered

Chosen Option :

1




Q4 fa-miel sul [@seuniyo ouil 00 A wSldembed) 497 122t 1] <)

X. 1
Ans X 1. 4
X2 1
X3 2
4 3
Question ID : 630680686134
Option 11D : 6306802687185
Option 2 ID : 6306802687182
Option 31D : 6306802687183
Option 4 ID : 6306802687184
Status : Answered
Chosen Option : 4
Q5 el wiel e, )l wte] oy el el w7 o) o] = 1y, L ugl 1A ugladld yed g el
TYIWBX4Z2=?
Ans X 1. 23
X2 21
X3 29
o4 25
Question ID : 630680686168
Option 1 ID : 6306802687319
Option 21D : 6306802687318
Option 31D : 6306802687321
Option 41D : 6306802687320
Status : Answered
Chosen Option : 4
Q.6 g @) usg Sl el Ao WA wiles18lodl ulsalell Guanal s31a «12 wind] Arlla difs da yel s2aiue
ua [g (7) ol w21 9] w1adl?
34, 45, 48, 59, 62,72
Ans 1. 73,76
X2 76,73
x<3.81,70
X 4. 70, 81
Question ID : 630680686141
Option 11D : 6306802687210
Option 2 ID : 6306802687211
Option 31D : 6306802687213
Option 4 ID : 6306802687212
Status : Answered

Chosen Option :

1




Q.7

o[ Aot | WHHL Uk wlod dofl o128 w1l 1w 2 Al o1lael & (duloflod uH1deL el 8. GRedlTIR W 455l
53] 85 (el wd i 2Qe] HE] wstell 2rdied L HI2 udld 83 30

gL U126, sioxd, Act, Hldl 2w d2RMmi sleAdlell R 82
GETZE

1. 0d sl%d wal dael sl MR 8wl Hldl sl eodl B,
2.l Alell 1R A2dl.

A X  [Quled 2 WG uAlH B R [Quled 1 205¢ uauly el
v 2 [Aylef 1 vl (AYled 2 alal YU B
X3 [aylel 1 W54 vAld & 2R [Aulst 2 w156 Uy «eil
X4 [adle 1 wegl [ddlet 2 [y B
Question ID : 630680653147
Option 11D : 6306802557027
Option 2 ID : 6306802557028
Option 3 ID : 6306802557026
Option 4 ID : 6306802557029
Status : Answered
Chosen Option : 3
Q.8 ofldetl usHl B 24} defl of12 wTAL 1 244 2 slot2] £2U[Qel A (deleDlof) AHIQ2L 21l B GRadIR 3 55
5201 B 5 (@] Mg Ml 2] Hiledl wstell oaled wudl M2 wdld 9% 50
Yt Wl slef] eom Bedl slsdluil B2
(GETEE
1. (Gl @e stofl ologuiel] eml e 8.
2. (Wt suui wuRil wiegell eaul e B,
A1 (QYle 1 WA (@Yl 2 ol yuld B
X2 [adle 1 W59 vAlH 8 2R [delel 2 2159 ud[H 2]
X3 [aylel 2 Wsq uAld & 2R [Aulst 1 2156 uulH -l
X4 [adle 1 wegl [ddlet 2 [y B
Question ID : 630680653133
Option 11D : 6306802556972
Option 2 ID : 6306802556970
Option 3 ID : 6306802556971
Option 4 ID : 6306802556973
Status : Answered
Chosen Option : 1




Q.9 opj @10 usd Sl i, #dloll WA dleeiSloAl ulsuledl Gualol 5314 1A wiRdl Belld dilbs 21d gl s2al
HI2 Wt (g (2)efl o012 9] 419817

20, 27, 25, 32, 30,77

Ans 1. 31, 29
X< 2 35, 37
X3 29,31
4 37,35
Question ID : 630680653132
Option 11D : 6306802556967
Option 2 ID : 6306802556969
Option 3 ID : 6306802556966
Option 4 ID : 6306802556968
Status : Answered
Chosen Option : 4
Q10 {341 SlesHl Auld (Gauea ulaiul 9 %l el [AyDul Bodel oel-l 2sidi] w4l 8.
The numbers in the brackets give the Maximum marks in Each
Subject
Subject (Max. Marks)
Student | Maths | Comumerce | Physics | GK | History | Computer
Science
(100) (100) (100) | (100)| (100) (100)
Arushi 20 80 90 80 90 84
Aman 100 88 80 20 80 86
Sandy 20 20 920 85 20 80
Ronit 80 85 90 88 80 90
Meem 90 95 99 95 99 100
Tanu 93 82 85 89 90 80
Tanuj 95 85 920 97 80 89
GU sl SLEsel WIHR Al gL dAHM (@M W51 eslaldlHl 4leR) Hndd 59 el sedl 62
Aee] - subject — [ANY, Max. Mark — H&tiH (8L, Maths- JL[Bld, Commerce — dl(B21(S1H), Physic -
L5211, GK- AU (D), History — S[dEIH, Computer Science - $12|22 Y
Ans X' 1. 86.5 %
X2 825%
X3.835%
« 4 855 %
Question ID : 630680686149
Option 11D : 6306802687245
Option 2 ID : 6306802687242
Option 3 ID : 6306802687243
Option 4 ID : 6306802687244
Status : Answered
Chosen Option : 4




Q11 ]2t Slwsul did [Qareil12) ulatil © %6l el [@yu] Daddl el 2sidiz] wundl 8.
The numbers in the brackets give the Maximum marks in Each

Subject
Subject (Max. Marks)
Student | Maths | Commerce | Physics | GK | History | Computer
Science
(100) (100) (100) | (100) | (100) (L00)
Arushi | 90 80 90 80 90 84
Aman | 100 88 80 90 80 86
Sandy 90 90 90 85 90 80
Ronit 80 85 90 88 80 90
Meenu | 90 95 99 95 99 100
Tanu 93 82 85 89 920 80
Tanuj 95 85 90 97 80 89

GURsd 512 el W Hlog2d B5HIE M (NN 2sIalIME eAIR) Dodel 58 3191 2421 el §7
Aeel— SIAHT DGl 11551 635 [ANAH] HEWH QL oldld B

Subject — (AN, Max. Mark — H&tiH A1, Maths- 2[2ld, Commerce — LRSI, Physic ~l(ds211H, G-
AL (D), History — Sldeld, Computer Science - $1423 U, Student- (L2l Arushi- w1,

Aman- 34, Sandy-He51, Ronit-2[-ld, Meenu-le], Tanu- de, Tanuj- d={2s

Ans  X'1.93.52 %
X2 9253 %
+3.96.33 %
X 4983 %
Question ID : 630680686179
Option 11D : 6306802687363
Option 2 ID : 6306802687362
Option 31D : 6306802687364
Option 4 1D : 6306802687365
Status : Answered
Chosen Option : 3
Q12 o) grof) ge] -, x of) el 47, @ oll 28] <, ol el x &1y, ) ol Aef] ugladle] yeu 9 s9l?
22#3*35@5%13=?
Ans o 1, 58
X 259
+ 3 60
x4 61
Question ID : 630680686137
Option 11D : 6306802687194
Option 2 ID : 6306802687195
Option 3 ID : 6306802687196
Option 4 ID : 6306802687197
Status : Answered
Chosen Option: 3




Q13 o p=s Q="",R="xuAS ="+ &Y dl 1A 110 Ugladlo] Yeu 9] 592

SR8QBP12S3

Ans o 1, 3
<2 29
+ 3. 36
x4 27
Question ID : 630680653159
Option 11D : 6306802557076
Option 2 ID : 6306802557075
Option 3 ID : 6306802557077
Option 4 ID : 6306802557074
Status : Answered
Chosen Option: 3
Q.14 opyj q1o) usq €l i, U101l 4 Wieei1Slodl WLl Gualol sila i1 w0dl Al dilfs flad yel s2al
HI2 Wl Rl (2)ofl 2ou12) 9] 19817
16, 20, 18, 22, 20,77
Ans  pq D4 22
X2 23,25
X3 25,23
X4 22,24
Question ID : 630680653131
Option 1 ID : 6306802556963
Option 2 ID : 6306802556965
Option 3 ID : 6306802556964
Option 4 ID : 6306802556962
Status : Answered

Chosen Option :

1




Q.15 {241 Sy sul 2ld (QaneTuml uileii o ogel-ogel (@i Dadal A -l 2sidlil saldl .

The numbers in the brackets give the Maximum marks in Each
Subject
Subject (Max. Marks)
Student | Maths | Commerce | Physics | GK | History | Computer

Science

(100) (100) (100) |(100)| (100) (100)
Arushi 90 80 90 80 90 84
Aman | 100 88 80 90 80 86
Sandy 90 20 90 85 90 80
Ronit 80 85 90 88 80 9
Meenu 90 95 99 95 99 100
Tanu 93 82 85 89 90 80
Tanuj 95 85 90 97 80 89

(2i€6] - The numbers in the Brackets give the Maximum Marks in Each Subject - SIAHI w6l 11551 €35
([ayyy] Hedu I8l vict1d B, Subject (Max.Marks)- [y (HEdH IRD, Max. Mark — HédH I8l Maths- JL@ld,
Commerce — AL 1), Physic —ell (A2, GK- UIHIASL (%), History — B(dE1d, Computer Science -
512422 Yo, Student- [ARLELL Arushi- 4128, Aman- w4, Sandy-de5l, Ronit-2l(-d, Meenu-Hl+, Tanu-

clsf, Tanuj- d={7%)
GUNSA SIESAL WIHIZ Wuetell dH M [@ual-A1 oila 56 B2d) el Hoeal 2

Ans 1. 524
X 2538
<3556
X 4514

Question ID : 630680653170
Option 11D : 6306802557119
Option 2 ID : 6306802557120
Option 3 ID : 6306802557121
Option 4 1D : 6306802557118
Status : Answered
Chosen Option : 1

Q.16 ilRcily 200 Wit dell 2Eetl 24113 oA AeAlHIe]] 565 A 215[cl(venn diagrams) Gel2 W2l duiAG e l=y2
Q) Ay oy g21la B2

Ans

x 1.

@6@0

Question ID : 630680686155
Option 11D : 6306802687269
Option 2 ID : 6306802687267
Option 31D : 6306802687268
Option 4 ID : 6306802687266
Status : Answered
Chosen Option : 3




Q17 apy 3 w3l 1A Xy 3l U YsaiHl 2418 3 esaiod] wisldel A1 2= [Aseiuis] sal [Gsen ust 241sld-]
yld(cieimirror image) €217

Question figure:
081318
X Y

(1)8TETB0 (2) 8reEr8o
(3)081818 (4) 087378

Ans X1 3
X2 2
X3 1
s 4

Question ID : 630680686165
Option 11D : 6306802687308
Option 2 ID : 6306802687307
Option 3 1D : 6306802687306
Option 4 ID : 6306802687309
Status : Answered
Chosen Option : 2

Q18 | 1lef S2ctL GHHT HLE] B, Hlef v]low Bedl 1] «tell. Guat vl s2cdl GHML HIE) B Ul «ildlt
ged| 121 «lefl, dl due-tiell el Hig s19L B2

X ulor
X2 Gy
v 3 ofldl
X4 lof

Ans

Question ID : 630680653119
Option 1 ID : 6306802556914
Option 2 ID : 6306802556916
Option 31D : 6306802556917
Option 4 ID : 6306802556915
Status : Answered
Chosen Option : 2




Q19 o) 5ol e (x), T Al 24] (), U ol ie] (=) 242 v ell i8] (+) 412 D, | A2t ueladle] Heu gf o2
(168U 2) V (16 S 4)=?
Ans X1 142
X2 124
3 148
X4 184

Question ID : 630680686139
Option 11D : 6306802687203
Option 2 ID : 6306802687202
Option 31D : 6306802687204
Option 4 1D : 6306802687205
Status : Answered
Chosen Option: 3

Q.20 s 5121U15 128 Sl 531A Yelel @) 58 B S121A15HT Bulldl HlSell UIFL wAleleil PusH1A Yodloil Bsuiat YAl 8.
ol daelemi Bultdl MlSal 118 yelel-l g Held 82

Ans X 1. Yl
v 2 Yedel Uld
X glgl
X4 ofof]

Question ID : 630680653142
Option 11D : 6306802557009
Option 2 ID : 6306802557008
Option 31D : 6306802557006
Option 4 ID : 6306802557007
Status : Answered
Chosen Option : 2




Q21 {]3e4uie]l 56 Q-1 215[d (venn diagrams) UdR{Iu, 21 el 0 A2l AB Aold £21[d &7

Ans . (:)(:)

O
@
< 3.

v+ GO

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653113
6306802556891
6306802556892
6306802556893
6306802556890
Answered

4

Q.22 3cil 21eflell 112l 8. 2l 212l $2cll sllell © i Ml UEdL 52l H12L 8. Aol 2lell g s191 B2

Ak ofldl
v 2 [yyl
X5 Ukl
x4 el

Question ID :
Option 11D :
Option 21D :
Option 31D
Option 41D :
Status

Chosen Option :

630680686129
6306802687165
6306802687163

1 6306802687162

6306802687164

: Answered

3




Q.23 {1241 [gsedinl 24106 u415(duDuiel], Ad] 24150d= uie 5303 Ui Wl 411s(d po wuRdl23dl embed)

Chosen Option :

el
(X). 1 2. 3. 4,
Ans X1 1
<23
X3 4
o4 2
Question ID : 630680653122
Option 1 ID : 6306802556926
Option 2 ID : 6306802556928
Option 3 ID : 6306802556929
Option 4 ID : 6306802556927
Status : Answered
Chosen Option : 4
Q24 {13 wal ([dsafuiel 56 5] s5d vl 2101l 21812 1A WD) Uddal Hled B2
987 : 24
Ans  X'1.458:18
X2 198:15
#3.340: 60
4 289:19
Question ID : 630680653136
Option 1 ID : 6306802556985
Option 2 ID : 6306802556982
Option 3 ID : 6306802556984
Option 4 ID : 6306802556983
Status : Answered
Chosen Option : 4
Q25 fAamiel] 56 15| Mo Hudledl 429101141 WIH1 {13 0] g (da 211 B2
7898 : 32
Ans 1. 2877 : 24
< 21198 : 17
X 3. 4258 : 20
x4 3410: 10
Question ID : 630680686177
Option 1 ID : 6306802687355
Option 2 ID : 6306802687354
Option 3 ID : 6306802687357
Option 4 ID : 6306802687356
Status : Answered

1




©9?
M

MALAYALAM

N
< 1. MALAYALAM

Ans

X 2. MATAYATAM

X3 WYTYAVTVIN

« 4 MAJAYAJAM

Q.26 o3 WUl MN U LM 13, dl [@sedly] wDd] wis(duiuiel 56 11sd ust wislde] 2w uldodo

Question ID : 630680653185
Option 1 ID : 6306802557181
Option 2 ID : 6306802557179
Option 3 ID : 6306802557180
Option 4 ID : 6306802557178
Status : Answered
Chosen Option : 4
Q.27 {lA=A1 Wl WAl 249 Asfl {10 WAl 1 249 2 oM e1ldal o (Qui=floll 211821 41y 8. GRed1 ) «iss]
520le] 8% [qrileAl] sl WAl Hiled] usisl osdied wWual Hiz wild 93 30
g w5 UBAS ML sand'=ll wel(515) 9 B?
(GLIENE
1. AUlB[AS MM, 'sand is cold's re sa ga' dilk duldiul w19 9.
2. 9 % AX[As WM 'mace it coldA re ja no' dilk @udaiml w1 .
Ans
X [ayled 1 gl (Al 2 ydld 8
X2 [adle 2 Wsg uAlH B 2R [dulel 1 215G udH 2]
v3 o dl[qulel 1% < dl [Qulel 2 udld B.
X 4 (qylel 1 W54 uAlH & 2R [qul- 2 156 Uy «eil
Question ID : 630680653146
Option 11D : 6306802557024
Option 2 ID : 6306802557023
Option 3 ID : 6306802557025
Option 4 ID : 6306802557022
Status : Answered
Chosen Option : 3




Q.28 4 wfqeie dud ) WA AHeAl sHeAL A IHIR AlAoAHIE] 58 18] A2 2] wag(da wHLA B?

61:89
Ans  X1.86:110
X2 59:64
3 31:83
X4 86:88
Question ID : 630680686178
Option 1 ID : 6306802687361
Option 2 ID : 6306802687359
Option 3 ID : 6306802687358
Option 4 ID : 6306802687360
Status : Answered
Chosen Option : 3
Q.29 g (Ayleidl) e dizel slyds dia. didl @sul 3 [Aul-0ul wudml wad] qiléd #el 8, ¢d d
AL el onellddl eslsdlafl (@ el dd diaig &1y, dl sl 520 % [Ari-ed)ial 1l drel 18 2
R cl(Es 2 w3 .
(GEIEE
Fedls seldul g4l slu 8.
Hedls 6l sHULE1Y B,
dRell:
1. | e&[d21 (dahlia) SHO €14 B.
2. w540 es(CYl (dahlia) S1Y B.
Ans
K UA dRRL2 WA B
2 o dldRRLT S dldRRl2 WeAHI 8
X3 ol dRBL 1 Ul 2 WY B
Koo YA dRRL T WA B
Question ID : 630680653115
Option 1 ID : 6306802556899
Option 2 ID : 6306802556900
Option 3 ID : 6306802556901
Option 4 ID : 6306802556898
Status : Answered
Chosen Option : 4




Q30 |3e4niefl 51 (Ased 1A A0G] 215 [AHT WS RiGeil 2Ll 2119217 122leA=A] 1oyl «Aell)

1

-

X.

Hf H B B

1.

Ans s 2
X2 2
X3 4
x4
Question ID : 630680686162
Option 11D : 6306802687296
Option 2 ID : 6306802687295
Option 31D : 6306802687297
Option 4 ID : 6306802687294
Status : Answered
Chosen Option : 1
Q31 of] 5= 10, b=14, ¥ c= 16, dla? + b? + ¢ + 2 (ab + bc + ca)s] Y& 20l
Ans X 1. 1400
« 2. 1600
X 32500
X 4900
Question ID : 630680686214
Option 11D : 6306802687499
Option 2 ID : 6306802687500
Option 31D : 6306802687501
Option 4 ID : 6306802687498
Status : Answered
Chosen Option : 2
Q.32 5 wadlslell Heas 25 1Y, wal AR £35 vlAdlseid] vy 'C GRRAIML 219, dl Heals 31 414 8. dl Cof Yoo
&,
Ans o 1, 3
s2 6
X3 2
X412
Question ID : 630680653232
Option 11D : 6306802557367
Option 2 ID : 6306802557368
Option 31D : 6306802557366
Option 4 ID : 6306802557369
Status : Answered
Chosen Option : 2




Q.33 )5 cufsd (o1 wILilHL 14 kmyhr il 250 UlRflul dl 2% . %l udlssil »5U 8 kmshr €14, dl <i[Sdel 154 km

vdleef] [£21Ml oal U2 B2dl wH dlo1gl?

Ans X 1. 9 hrs.
X 2. 6 hrs.
« 3 7 hrs.
X 412 hrs.
Question ID : 630680653223
Option 11D : 6306802557332
Option 2 ID : 6306802557330
Option 3 ID : 6306802557331
Option 41D : 6306802557333
Status : Answered
Chosen Option: 3
Q.34 s diga = 162041 AudlEl HAdL sl 25193l 2R A gl = 1200M] AUAIE] Udl sl 25191l HHIA
. 203 «§l Qoaal 4z d digd 56 (B4 dud] efsu:
Ans 1. 31692
X2 71060
<3 %1542
<431120
Question ID : 630680653242
Option 11D : 6306802557406
Option 2 ID : 6306802557409
Option 3 ID : 6306802557408
Option 4 ID : 6306802557407
Status : Answered
Chosen Option : 1
Q.35 7660 U2 30%¢] (1014 (S261Ge2 i 2ul-d 254 UR 5[H5 20% A 109%¢11 A (526162 Ao dsldd Bedl .
Ans X 1. 315.2
2 313.2
X3.3105
xX4.3116
Question ID : 630680686233
Option 1 ID : 6306802687574
Option 2 ID : 6306802687577
Option 3 ID : 6306802687576
Option 4 ID : 6306802687575
Status : Answered
Chosen Option : 2




Q.36 o5 @) 21(S1201el] AAUOTL AMedl dSlccledl Wi AR w102 €14, dl & ARRAAL RNt .
Ans X1 2:3

X2 56

&3 3.2

X4 65

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680653217
6306802557306
6306802557308
6306802557307
6306802557309
Answered

1

%7 110 20l 150 ofl @22ef] dHIH w1t v )eAl 132191 204,

Ans X 1.153.57

X 2. 143.87
X 3. 157.45
o 4 132.67
Question ID : 630680653201
Option 11D : 6306802557243
Option 2 ID : 6306802557244
Option 3 ID : 6306802557242
Option 4 ID : 6306802557245
Status : Answered
Chosen Option : 2
Q.38 o0 25 o1z Udlsedl (A (E2LIHL 54 kmef 2ld2 6 $A15H] 510 B 24 U191 2419l el A o 2dl2 3 $eLsH]
5108, dl Rez uiellu o oflesfl »su dedl 2l d 2llHl.
Ans X 1. 11.5 km/hr.
« 2. 13.5 km/hr.
X 395 km/hr.
X 4.12.5 km/hr.
Question ID : 630680686212
Option 11D : 6306802687491
Option 2 ID : 6306802687493
Option 3 ID : 6306802687490
Option 4 ID : 6306802687492
Status : Answered
Chosen Option : 2




2313 w109 usel G349 20,

(480 + 240)° — (480 —

240) *
(480 x 240)
Ans X1, 720
X 2. 240
s34
X 4. 480
Question ID : 630680653285
Option 1 ID : 6306802557581
Option 2 ID : 6306802557579
Option 3 ID : 6306802557578
Option 4 ID : 6306802557580
Status : Answered
Chosen Option : 3
Q.40 Hi[Ast d-l sidor ogcl w2 40 km/h -l Bsu cligs Acld 8. 244 30 km/h Al Hsu @I uedl 53 B. ol
Al sider 60 km g2 8, dll {i[Fist-{l aat-2udl (round trip) 32+l A3RNA HsU Sedl H?
Ans 1. 34.3 km/hr.
X 2. 38.6 km/hr.
X 3.40.5 km/hr.
X 4. 30.5 km/hr.
Question ID : 630680686211
Option 11D : 6306802687487
Option 2 ID : 6306802687488
Option 31D : 6306802687489
Option 4 ID : 6306802687486
Status : Answered

Chosen Option :

1




Q.41 2l Rs. 4000 «fl W€l U2 vUA R UL 30% [S281G2 W] 25% 21 5%e1l A 515 [S2816-2 42l [43]y

531 2151 of &dl. 6l (528162 q¥ll 9] dsldd B2

Ans X' 1. Rs. 25
#< 2. Rs. 80
« 3. Rs, 50
< 4 Rs. 75
Question ID : 630680653244
Option 11D : 6306802557414
Option 2 ID : 6306802557417
Option 3 ID : 6306802557415
Option 4 ID : 6306802557416
Status : Answered
Chosen Option : 2
Q.42 . .
of|Aedl [qseiinie]] Hlell {12l Hual 20,
Ans 8
X1 —
12
X2 042
X3 067
5
& 4 _
6
Question ID : 630680686223
Option 11D : 6306802687536
Option 2 ID : 6306802687537
Option 3 ID : 6306802687534
Option 4 ID : 6306802687535
Status : Answered
Chosen Option : 4
Q.43 95 (21l (8L, £ 317 ULgllefl 4 Nz 3: 2 B. %6l w1 RN 1: 2 €1y, ) a4y 324l (d2z uiell Girdld 8.
Ans
1 76 [der
X2 70 (42
X3 60 [der
X4 45 (qer
Question ID : 630680686236
Option 11D : 6306802687589
Option 2 ID : 6306802687586
Option 3 ID : 6306802687588
Option 4 ID : 6306802687587
Status : Answered

Chosen Option :

1




Q.44 )5 wylset] vl wal Peell Hrdoll 60 B, %1 vigMi 2 GHaMI w13 w4 Feuiel 2 wis A w13, dl ag
uel B, wyls 90l

Ans 22
o 1.
38
X 2. E
40
X 3. @
20
x4 38
22
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

630680653237

1 6306802557387

6306802557388

: 6306802557389
: 6306802557386

Answered
1

Q45 Q) 29l AW Bid2 240 kms B, Wl Bid2 SMUAMT B8 2o 6 5618 G1I B, 2otod| 25U 2RI 53,

Ans X152 km/hr.
« 2. 40 km/hr.
< 3. 70 km/hr.
X 4 64 km/hr.

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question ID :
: 6306802557323
: 6306802557322
: 6306802557325
1 6306802557324

Status :
Chosen Option :

630680653221

Answered
2

Q.46 p 2w qofl AF20L HIFS 21195 75010 B. Q el Rell 13291 UIFS 21195 7 6620 B wiad p ui Rell #I2191
HI[S 21195 7 5300 B, peil HIRS w1as Sed] &2

Ans  X1.F 2800
¢ 2. T 3690
X 3.3 4485
X4 33360

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686191
6306802687406
6306802687409
6306802687408
6306802687407
Answered

2




Q.47

12,9, 6, ..., HHid? ALlle 304 us 54 B2
Ans 1. -75

<2 -30
X3 -45
X4 -60
Question ID : 630680686218
Option 11D : 6306802687514
Option 2 ID : 6306802687517
Option 31D : 6306802687516
Option 4 ID : 6306802687515
Status : Answered
Chosen Option : 1
Q.48 g AuA Rl A, B 2= € B, %1 AUL 5 €215AIM] 2419 w4el BUI 5 QeRAMT 19 dl dMetl YRA| #HIet 24Q), %) CHi
8 AR} 2419 Wel BUL 8 AeRA 1] 2D dl dHetl YL 1M 1ot 2421 %1 A el C ol HA101] 420 €1Y, dl Bs]
Y& 9ldl,
Ans X1, 350
X 2. 280
« 3 205
X 4 215
Question ID : 630680653240
Option 1 ID : 6306802557400
Option 2 ID : 6306802557398
Option 3 ID : 6306802557401
Option 4 ID : 6306802557399
Status : Answered
Chosen Option : 4
Q.49 5 &5 Ml A 14 sAlSHL @R B U Aell oMl dl3s Bala 5RE A HRAMI A sd1s a9y 14 g1l
8. ol §5 34l €1, dl iy de dedl salsul vl s291.
Ans X182 S4LS
<2110 5418
<390 5415
4 112 5415
Question ID : 630680686237
Option 11D : 6306802687592
Option 2 ID : 6306802687593
Option 3 ID : 6306802687591
Option 4 ID : 6306802687590
Status : Answered
Chosen Option : 4




Q90 o) Aquatudln -5, 4n - 3, 5n + 2 AuARD WA ARIHE SR, dl n < Yt 9] B2
Ans X1 3

K22
2
X3 =
3
3
o 4 —
2
Question ID : 630680686248
Option 11D : 6306802687636
Option 21D : 6306802687634
Option 31D : 6306802687637
Option 4 ID : 6306802687635
Status : Answered
Chosen Option : 4
Q.51 g8 @ vaidledl HCF wel LoM 27 2 192 B e vl 1: 9 <l JRlldHl . @ Auapiuie] el {12l
Al 204l
Ans X 1. 576
X2 128
« 3 216
X 4192
Question ID : 630680686224
Option 11D : 6306802687541
Option 21D : 6306802687538
Option 31D : 6306802687540
Option 4 ID : 6306802687539
Status : Answered
Chosen Option : 1
Q.52 pays quls s 5 [eauHl sil o & Q uia R 23 % s1 5 [Rauul 531 2% B, 23 R @A p A 512 10 [eauui
531 o3 8. %1 P Q 2l R w1518 uuila 512 53, dl 3edl (eayui sid ys agl?
Ans 1. 40/34
<2 17/40
< 3 34/17
« 4 80/17
Question ID : 630680686208
Option 11D : 6306802687477
Option 21D : 6306802687475
Option 31D : 6306802687476
Option 41D : 6306802687474
Status : Answered
Chosen Option : 4




Q53 159 Nolqal HIZ Ws Huala deil Alell eloLel] ARlLs1R Al 11 B. A Hul 56 B A 204,

Ans 51 26
<2 28
X3 22
X4 24
Question ID : 630680653265
Option 11D : 6306802557500
Option 2 ID : 6306802557501
Option 3 ID : 6306802557498
Option 4 ID : 6306802557499
Status : Answered
Chosen Option : 1
Q.54 . . . .
ol = 8aZb ulel UELUILE = 3ab? HRlddl Gl U] &0 5eq 82
Ans X1 32a%b?
¥ 2. 24a%p?
X3 12a%p?
X4 243%p3
Question ID : 630680686245
Option 11D : 6306802687624
Option 2 ID : 6306802687623
Option 31D : 6306802687622
Option 4 ID : 6306802687625
Status : Answered
Chosen Option : 2
Q.55 o3 vls duainiel 48 elie s2AML 21 B AR d dell 80% il €2 B, d Auatlell UlR-JYHIL 1121 204,
Ans 1192
2 2. 380
X 3. 350
X 4. 240
Question ID : 630680653239
Option 1 ID : 6306802557397
Option 2 ID : 6306802557395
Option 3 ID : 6306802557394
Option 4 ID : 6306802557396
Status : Not Answered

Chosen Option :




Q.56 )5 yls (el 20% of SAlotHl TS5 Yels A2, 5L QA Ao T114 AgHl 82 Eldt, ol 13l 30% «1§) Ronel o,

ol Yetsefl usd2 (Bud 2ldle

Ans X113 234
X2 3246
X3 F216
74 3228
Question ID : 630680653213
Option 1 ID : 6306802557292
Option 2 ID : 6306802557293
Option 3 ID : 6306802557290
Option 4 ID : 6306802557291
Status : Answered
Chosen Option : 4
Q.57 o) wi(Bct Yl HlsAlAl 28151e] 215 UH1522L —4x + 3y — 2 = 0 S1Y, dl {1 Mol 520 [Asey ofls
Ul SIS 20k7
Ans X1 —4x+6y—4=0
X2 8x+3y—2=0
X3 4x+3y—2=0
w4 —8x+6y—4=0
Question ID : 630680653228
Option 1 ID : 6306802557350
Option 2 ID : 6306802557351
Option 3 ID : 6306802557353
Option 4 ID : 6306802557352
Status : Not Answered
Chosen Option : --
Q.58 ) (qeyie{fedl w5 uzlatl widl sdl. auiel Ws [@Qaie oilos sl 8 2y 1 dy Renel dl WA Aell 2L M=l
J|Rlletl URALYAL 55% Bl &dl. dUell glal Herde | 2wl 8.
Ans 1. 36,44
<2 20,39
X 330,42
x4 28,35
Question ID : 630680653271
Option 11D : 6306802557525
Option 2 ID : 6306802557522
Option 31D : 6306802557523
Option 4 ID : 6306802557524
Status : Answered

Chosen Option :

1




Q.59 @ Aqu il YetcdtH U1 waAd] 196 D i deodl AbrH ALH A wiaud] 14 B, o) vl adl-l dsldd
60 8, dl d AuAl2l-Al wralnl-ll 4 B2d) B?

Ans X 1. 15348
« 2. 14576
< 312680
X 413247
Question ID : 630680653267
Option 11D : 6306802557509
Option 21D : 6306802557508
Option 31D : 6306802557506
Option 41D : 6306802557507
Status : Not Answered
Chosen Option : --
Q60 Q65 Q) il RNtz 4 : 7 Hi B, % Auedl Aell dsldd 63 €12, dl «lle{l vl 58 B2,
Ans X 1. 160
X 2 59
3 84
X4 T6
Question ID : 630680653277
Option 11D : 6306802557549
Option 21D : 6306802557547
Option 31D : 6306802557548
Option 4 ID : 6306802557546
Status : Answered
Chosen Option: 3
Section : Part B - Constitution of India, Current Affairs, Comprehension, Technical Qualification
Q.61 31 out-yu 2024 Yell-l Guetost HIEAlAL R, A-1i] STQL etRd-L egule-l 2feell
i Al -2Q?
Ans X 1. dlsueil-l 2rlal Aol
o 2. o 2 51HR (A AL 2rlet Aol
X 3. AURAIAL Y2l AU
X4 o [Qui-eedi-L 2Rl Aol
Question ID : 630680653083
Option 11D : 6306802556782
Option 21D : 6306802556785
Option 31D : 6306802556783
Option 4 1D : 6306802556784
Status : Answered
Chosen Option : 2




Q.62 ReAlU oittREI- Azl 58 seunt "eguld-l A2ell” (@l oxlatais-l Gedut sai 2Atedl
97

Ans X 1.sdu 51
X 2. 541 52
X 3541 53
o 4. 541 54

Question ID : 630680653075
Option 11D : 6306802556750
Option 2 ID : 6306802556751
Option 3 1D : 6306802556752
Option 4 ID : 6306802556753
Status : Answered
Chosen Option : 4

Q.63 DA-uizdl sut arfit GRdl oitRIAL URL-IV(A)HI Yo d §081-1 AL SAMI Atedl &dl?
Ans X 1.1970

X 2.1981
X 3.1972
o 4.1976

Question ID : 630680653063
Option 11D : 6306802556703
Option 2 ID : 6306802556702
Option 31D : 6306802556704
Option 4 ID : 6306802556705
Status : Answered
Chosen Option: 2

Q.64 MRAY GitlRRI-AL ARIAMI2]l 567 sl “eieliRRIlU GUIKi-L A(ESR” Aci(Eld B LIUSuIAL Bedut
SAM Ll D7?

Ans X 1.scdu-28
o 2.5 - 32
X 3.sdu-14
X 4. sdu-29

Question ID : 630680686834
Option 11D : 6306802689993
Option 2 ID : 6306802689994
Option 3 1D : 6306802689991
Option 4 1D : 6306802689992
Status : Answered
Chosen Option : 2




Q.65 "5 A% cAteAdiHi ds{l AL, HRAA Gie 1AL Al 585 sl 218 Gedw

SCAML Ll B?
Ans  # 1.544-16
X 2.sdu-15
X 3.sdu-14
X 4. sdu-19
Question ID : 630680653070
Option 11D : 6306802556732
Option 2 ID : 6306802556731
Option 3 ID : 6306802556730
Option 4 ID : 6306802556733
Status : Answered
Chosen Option : 1
Q.66 15 §oJ211 2024 Yell-l Guetost HIlEA yosol, ARl 58 MR- ciaRlU 01 ?
Ans X 1. A A Roye
X 2. A2d [Alra- sfad
o 3. tRdd Yerll ux
X 4. dlsuld 2 disiysd
Question ID : 630680686839
Option 1 ID : 6306802690012
Option 2 ID : 6306802690011
Option 31D : 6306802690013
Option 4 ID : 6306802690014
Status : Answered
Chosen Option: 3
Q.67 Agulet A Gurgulei-ll ArtiAl-{l AAT HIRCAIU GilRQLAL SUL HPHL SAMT Ul B?
Ans X T1.e0L1V
o 2. LV
F SERCIERY]
p TRV
Question ID : 630680653074
Option 11D : 6306802556746
Option 2 ID : 6306802556747
Option 3 ID : 6306802556748
Option 4 ID : 6306802556749
Status : Answered
Chosen Option : 2




Q.68 4241 cieRRlU YR WEFUH 1976 LIRL AAAHiRl 52l AcE HIRAIU HURRIAL SIUEBL
G Ul sdll?

Ans X 1.disuél (Democratic)

X 2. ald>udl (Liberty)

X 3. uosiudis (Republic)

o 4. Qxowalel (Socialist)

Question ID : 630680653059
Option 11D : 6306802556688
Option 2 ID : 6306802556686
Option 3 ID : 6306802556689
Option 4 ID : 6306802556687
Status : Answered
Chosen Option : 4
Q.69 31 o=y - 2024 Y-l Guatott HUSA Yowet, AAAwil 58 1R ol AL A201?
Ans X 1. 951 s AldA 25U 516(Ae
X 2. AUgY Rt aseiopld HI2 LU A RA1L
o 3. -l 2ralal
X4 AR Ul 12 AL AR
Question ID : 630680653076
Option 1 ID : 6306802556755
Option 2 ID : 6306802556757
Option 3 ID : 6306802556754
Option 4 ID : 6306802556756
Status : Answered
Chosen Option: 3
Q.70 31 ou-y1d), 2024 Yell-Al Guatost IS enR, NA-il 58 clietdl/oBtoraugui-it el
SIURRIAL SIUEHT Gedut 2(l?
Ans X 1.2cld>udl (Liberty)
25 2. qMIHdL (Equality)
o 3. AR (Employment)
X 4. <ud (Justice)
Question ID : 630680653068
Option 1 ID : 6306802556723
Option 2 ID : 6306802556724
Option 3 ID : 6306802556725
Option 4 ID : 6306802556722
Status : Answered
Chosen Option: 3




Q.71 R dASMel-A-{l el SrQlU HalHsA atiRd-L ARl 521 AR asos(d Tl
Eax AR el ool 2uEaril -2 vt 2@ (PM JANMAN)A 3o 240l 8?

Ans X 1. ueauel
X 2. 4pud-s
& 3. »RuiS

X4 HRyR

Question ID : 630680686076
Option 11D : 6306802686964
Option 2 ID : 6306802686962
Option 3 1D : 6306802686965
Option 4 ID : 6306802686963
Status : Answered
Chosen Option : 3

Q.72 23 {1d1R2, 2023 A%, MR (@131 o (South pole) ([ARcAIRUI 2g-Al AU UR AgAULA-3-L AFA
Alge A5 e Slatstat 7. Ugui-3 -1l A% GSLV 15 3 (LVM 3) &ll ei-A s
Y &g,

Ans X 1.30 o, 2023

X 2. 14 2P1R2, 2023
2 3.1 ogells, 2023
o 4. 14 ogas, 2023

Question ID : 630680686084
Option 11D : 6306802686994
Option 2 ID : 6306802686995
Option 3 1D : 6306802686996
Option 4 ID : 6306802686997
Status : Answered
Chosen Option : 4

Q.73 ax{ 2023ui, G-l st el Qs yula@tL Ead U “MISHTI” Aios-iL 213 5A &, MISHTI 4i"S"
Al 2] g &?

Ans X 1.2{ siz2 (Sea coast)
X 2. q184 (Soil)
o 3. 2RletsH (Shoreline)
X 4. sl (Safety)

Question ID : 630680686090
Option 11D : 6306802687020
Option 2 ID : 6306802687018
Option 3 ID : 6306802687021
Option 4 ID : 6306802687019
Status : Answered
Chosen Option : 3




Q.74 lA-wiadl su1 21 20234 UlesAel 193 VR iu S Al ag Aset el H?

Ans X 1. ¢lRd
o 2.0
X 3. Rulets s siRut
X 4. oA
Question ID : 630680686082
Option 11D : 6306802686986
Option 2 ID : 6306802686988
Option 31D : 6306802686989
Option 4 ID : 6306802686987
Status : Answered
Chosen Option : 2
Q.75 -y - 20244, A-unizll st 22l Al YA Ber-A 851 (GFAI) ci-u sl ondud
52 B, % 2516 Goul AU S HIRe AL2L ASUPIA WL dRell-AL Sl cYsicis udd 6?
Ans X 1.1
X 2. v8AyA-S
X 3. AeRdxs
o 4. 35
Question ID : 630680653016
Option 1 ID : 6306802556529
Option 2 ID : 6306802556528
Option 3 ID : 6306802556527
Option 4 ID : 6306802556526
Status : Answered
Chosen Option: 3
Q.76 sgRell it eul@st ([Gaua SC, ST, OBC, cguel el 244 BPL uRaRi-l 10 20l 18 ar-{l au-l
S-URAL U2 QLY sel [F1a1L 244 88UEs Y[EeuAl oi uR - 3[d 53 8 gl wafisail
e fis 414 Yell sl AN U_dW-(transition) YA 2.
Ans o 1. <RELXII
25 2. dlRaLX
X 3. dRRkaLXI
X 4. iRV
Question ID : 630680653024
Option 11D : 6306802556558
Option 2 ID : 6306802556560
Option 3 ID : 6306802556559
Option 4 ID : 6306802556561
Status : Answered

Chosen Option :

1




Q.77 ax-2023ui vl 211Gt 374 ARA-tet uui ARl suL A T2l ay eli-n Hsa el

8?

Ans X 1. dMa-g

X 2. Uosia
o 3. HSRIR
X 4. sRusu
Question ID : 630680686073
Option 11D : 6306802686953
Option 21D : 6306802686952
Option 31D : 6306802686951
Option 41D : 6306802686950
Status : Answered
Chosen Option : 3
Q.78 23R - 20234, izl su EAni 184l G20 ARz AN AYds Ulons sdl?
Ans X 1. YAIERs 22 25 2 Rs!
X2, oA
o 3. ¢lRd
X 4 s
Question ID : 630680653018
Option 11D : 6306802556537
Option 21D : 6306802556535
Option 31D : 6306802556534
Option 4 ID : 6306802556536
Status : Answered
Chosen Option: 3
Q.79 u-stdl [Beal atRd-L Rzl sut AU 21ddl D7
Ans X 1.H@YR
o 2. HSRIR
X 3. ud sidlR
X 4. vegl
Question ID : 630680653022
Option 11D : 6306802556550
Option 21D : 6306802556551
Option 31D : 6306802556552
Option 41D : 6306802556553
Status : Answered
Chosen Option : 2




Q.80 31 oWty 20241 A% Guetosl HIEA Yosol, ARl ST AURAAL dcdHi-d Gurguld 87

Ans

o 1. 3l o21€l1 euR ( Shri Jagdeep Dhankhar)
X 2.8l A1 2l
25 3. 2l 2 [Gra

25 4. sl 244 &R (Shri Anup Dhar)

Question ID : 630680686088
Option 1 ID : 6306802687013
Option 2 ID : 6306802687011
Option 31D : 6306802687010
Option 41D : 6306802687012
Status : Answered
Chosen Option : 1
Comprehension:
¢ ofctilt 242l Sl e UNEL AHAH B 244 R AR, HAA ol AHAHAL Sl 0L BUR AR Sl
sdl, dell J clinad ettt etuell orial AmARAL o A3 SUL d elg AU A 25Ul gL 3 ofloy
GIRUURIH{ AURY o ol A 2], AHAMH 1% HIR AR 2L Al 8, d SREQLE ieuss A efloy 21Q)
8.
UL %5 VRAMT HRL AS SISIAL E1SA T AHURLAL AScl Scll AHGL 241 6l GBI AR AHRELAL ULS
luidal vejet sUl. 247 dll {1 $AA Ulct:sLH U4 U SRRl Ul asall-dl [ sUlAHREL Y
GuRAl U2 Fclid © 2 [E2l Al uls 2l
SubQuestion No : 81
Q.81 gsu Uidy 2Alis 2uul
Ans X 1.5
K 2 e e
o 3. s 2
X 4 welsd
Question ID : 630680653103
Option 1 ID : 6306802556852
Option 2 ID : 6306802556851
Option 3 ID : 6306802556850
Option 4 ID : 6306802556853
Status : Answered
Chosen Option: 3




Comprehension:

¢ ofctill 2Rl ScAL e UMeL AHARL B B R AMTBIRY, HAA cll AHAAL Sl 261 BUR AR Bl
|, dell J otlnad ettt etuell orual AMAMHAL U A3 SUT d el AHA A 2541 UgL 3 ofloy
GRIUGIHE AUR] d loll 4 213, AHAR 29T HIR AR 2HIRL A B, Ao SREL ¢ eitelesA Ag olloy a1g)
8.

L % AURRAML HIRL 1S SIS ESA 9T AHRARIAL HEA Scll AHGL M 6l HIEVA AR AHRELUAL ULS
lutclelil Mojet sUL A0 dll {13 5AA Uit SIH] -1 U SHRT U] asell-Al [ sulAHReEL Y
GuR ugl o © 2 vAEHILH d-l uLs adl.

SubQuestion No : 82

Q.82 ek Ave~il (el 2Aiell

Ans X 1.uRge
o 2. 2
X 3. (e
75 4Ry
Question ID : 630680653106
Option 11D : 6306802556862
Option 2 ID : 6306802556863
Option 31D : 6306802556865
Option 4 ID : 6306802556864
Status : Answered
Chosen Option : 2
Comprehension:
¢ ofctlet 242l Sl e UNEL AHAL B 2 R AP, HAA ol AHAHAL Sl 201 BUR AR Sl
sdl, dell F cllnad ejeilctfEAl etuell orial AMARAL o A3 SUL d elg AHU A 25Ul gL 3 ofloy
GLRAUREH{ AURY o 1ol A 2], AHAIH 1% HIR AR 202 A 8, d 5REQLE e A eflow 21g)
8.
L % AURRAMT HIRL S SIS 15U T AHURIAL S Scll dHQL M 6] GUEAA AR AHRELAL ULS
luicail vejet sUl. 247 dll {13 $AA Ulct:sLn 21U U] SHRll Ul asal-il [ sulAHRE Y
GuR2ll ugl asci © 1 VUEH] d-l uLs 2dl.
SubQuestion No : 83
Q.83 sl Aol -2l 20l
Ans X 1.9el
o 2. 2R
X 3. viasiel
K 4. ogHIA
Question ID : 630680653107
Option 1 ID : 6306802556868
Option 2 ID : 6306802556866
Option 3 ID : 6306802556867
Option 4 ID : 6306802556869
Status : Answered
Chosen Option: 2




Comprehension:

¢ ofctilel 22l SCAL e UMEL AHARL B 244 R AMTBIY, HAA ol AHAAL Sl 261 BUR AR Bl
|, dell J otlnad ettt etuell oreal AMAMHAL U A3 SUT d el AU A 2541 gL o3 ofloy
GRIUGIHE AUR] d loll 4 213, AHAR 29T HIR AR 2HIRL A B, Ao SREL ¢ eitelesA Ag olloy a1g)
8.

UL % AURRAML HIRL 1S SIS ESA 9T AHRURIAL HEA Scll AHGL AH 6l HIEVA AR AHRELUAL ULS
lutclelil Mojet sUL A0 dll {13 5AA Uit SIH] -1 U SHRT U] asell-Al [ sulAHReEL Y
GuR ugl o © 2 vAEHILH d-l uLs adl.

SubQuestion No : 84

Q.84 URBeMi cusd dld yeuis- sA

Ans

251 s
X 2. adedd
75 3. usHL GRAURL

o 4. AHAM 2R ABd B

Question ID : 630680653105
Option 11D : 6306802556859
Option 2 ID : 6306802556861
Option 3 ID : 6306802556858
Option 4 ID : 6306802556860
Status : Answered
Chosen Option : 4
Comprehension:
¢ ofctilt 242l Sl e UNEL AHA B 2 R AP, HAA ol AHAHAL Sl 0L BUR AR Bl
sdl, dell F cllnad ejeilctfEAl etuell orial AMARAL o A3 SUL d elg AHU A 25Ul gL 3 ofloy
GLRAUREH{ AURY o 1ol A 2], AHAIH 1% HIR AR 202 A 8, d 5REQLE e A eflow 21g)
8.
L % AURRAMT HIRL S SIS 15U T AHURIAL S Scll dHQL M 6] GUEAA AR AHRELAL ULS
luicail vejet sUl. 247 dll {13 $AA Ulct:sLn 21U U] SHRll Ul asal-il [ sulAHRE Y
GRuRA U el & 3 (L] d-l uis Al
SubQuestion No : 85
Q.85 s+l 3-Alu (G2 2uidl
Ans X 1. cllowugidl e
o 2. oifsaHl alsa
X 3. ellsa
X 4. AR yost
Question ID : 630680653104
Option 1 ID : 6306802556854
Option 2 ID : 6306802556855
Option 3 ID : 6306802556856
Option 4 ID : 6306802556857
Status : Answered
Chosen Option : 1




Q.86

Ans

Comprehension:

Refer to the below passage and answer the questions

Air pollution is a pressing issue that affects human health and the environment. It is caused
by natural and human-made pollutants that enter the air, soil, and water. To address this
problem, it is crucial to implement policies that reduce pollution and for individuals to take
personal measures to reduce their impact on the environment. Apart from restricting
industrial pollution, it is also crucial to encourage every citizen to reduce their daily
contaminant emissions. The use of vehicles with low fuel efficiency is one of the primary
sources of air pollution. Also, the burning of fossil fuels, the use of various aerosol sprays,
and gas-powered household appliances can significantly impact air quality.

It is vital to instate more guidelines for the reduction of personal pollution. For example, the
Clean Air Act regulates acceptable emissions from stationary and mobile sources, including
vehicles. All new vehicles must comply with the act and not exceed the appointed standard
for fuel emissions. Thus, individuals should be encouraged to follow the Clean Air Act when
selecting fuel-powered cars. Moreover, individuals should take small measures in their
everyday life to ensure good air quality, such as limiting the use of aerosols, opting for electric
or hybrid cars, and reasonable use of electricity in one's home. Overall, these small steps will
help improve the quality of the air.

Air pollution remains a significant environmental issue that requires policies regulating
different sources of contamination. Although there are many acts aimed at reducing
dangerous emissions into the atmosphere, including the Clean Power Plan and Clean Air Act,
there are still many measures that can be implemented to improve air quality. Thus, the work
and pollutant emissions of various factories need to be addressed by the government.
Meanwhile, individuals can decrease their impact on the environment by opting for electric
vehicles, reducing the overall consumption of fossil fuels and unnecessary electricity use. It is
only through a collective effort that we can improve air quality and ensure a healthier
environment for generations to come.

SubQuestion No : 86

Given below is a word, followed by three sentences that consist of that word. From the given
options identify the sentence(s) that best express(es) the meaning of the word.

Comply

A) You must comply with the law.

B) The staff were clear that they were not going to comply with his request.
C) Pupils who fail to comply with the rules will be punished.

X 1.B&Conly
o 2.AB&C

X 3.A&Bonly
X 4.A&Conly

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

630680653041
6306802556623
6306802556622
6306802556625
6306802556624
Answered

2




Q.87

Ans

Comprehension:

Refer to the below passage and answer the questions

Air pollution is a pressing issue that affects human health and the environment. It is caused
by natural and human-made pollutants that enter the air, soil, and water. To address this
problem, it is crucial to implement policies that reduce pollution and for individuals to take
personal measures to reduce their impact on the environment. Apart from restricting
industrial pollution, it is also crucial to encourage every citizen to reduce their daily
contaminant emissions. The use of vehicles with low fuel efficiency is one of the primary
sources of air pollution. Also, the burning of fossil fuels, the use of various aerosol sprays,
and gas-powered household appliances can significantly impact air quality.

It is vital to instate more guidelines for the reduction of personal pollution. For example, the
Clean Air Act regulates acceptable emissions from stationary and mobile sources, including
vehicles. All new vehicles must comply with the act and not exceed the appointed standard
for fuel emissions. Thus, individuals should be encouraged to follow the Clean Air Act when
selecting fuel-powered cars. Moreover, individuals should take small measures in their
everyday life to ensure good air quality, such as limiting the use of aerosols, opting for electric
or hybrid cars, and reasonable use of electricity in one's home. Overall, these small steps will
help improve the quality of the air.

Air pollution remains a significant environmental issue that requires policies regulating
different sources of contamination. Although there are many acts aimed at reducing
dangerous emissions into the atmosphere, including the Clean Power Plan and Clean Air Act,
there are still many measures that can be implemented to improve air quality. Thus, the work
and pollutant emissions of various factories need to be addressed by the government.
Meanwhile, individuals can decrease their impact on the environment by opting for electric
vehicles, reducing the overall consumption of fossil fuels and unnecessary electricity use. It is
only through a collective effort that we can improve air quality and ensure a healthier
environment for generations to come.

SubQuestion No : 87

Select the most appropriate ANTONYM of the below mentioned word from the below
options.

Significantly
& 1. Scarcely
/X 2. Considerably
/X 3. Substantially
X 4. Completely

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653043
6306802556631
6306802556633
6306802556630
6306802556632
Answered

1




Q.88

Ans

Comprehension:

Refer to the below passage and answer the questions

Air pollution is a pressing issue that affects human health and the environment. It is caused
by natural and human-made pollutants that enter the air, soil, and water. To address this
problem, it is crucial to implement policies that reduce pollution and for individuals to take
personal measures to reduce their impact on the environment. Apart from restricting
industrial pollution, it is also crucial to encourage every citizen to reduce their daily
contaminant emissions. The use of vehicles with low fuel efficiency is one of the primary
sources of air pollution. Also, the burning of fossil fuels, the use of various aerosol sprays,
and gas-powered household appliances can significantly impact air quality.

It is vital to instate more guidelines for the reduction of personal pollution. For example, the
Clean Air Act regulates acceptable emissions from stationary and mobile sources, including
vehicles. All new vehicles must comply with the act and not exceed the appointed standard
for fuel emissions. Thus, individuals should be encouraged to follow the Clean Air Act when
selecting fuel-powered cars. Moreover, individuals should take small measures in their
everyday life to ensure good air quality, such as limiting the use of aerosols, opting for electric
or hybrid cars, and reasonable use of electricity in one's home. Overall, these small steps will
help improve the quality of the air.

Air pollution remains a significant environmental issue that requires policies regulating
different sources of contamination. Although there are many acts aimed at reducing
dangerous emissions into the atmosphere, including the Clean Power Plan and Clean Air Act,
there are still many measures that can be implemented to improve air quality. Thus, the work
and pollutant emissions of various factories need to be addressed by the government.
Meanwhile, individuals can decrease their impact on the environment by opting for electric
vehicles, reducing the overall consumption of fossil fuels and unnecessary electricity use. It is
only through a collective effort that we can improve air quality and ensure a healthier
environment for generations to come.

SubQuestion No : 88

Select the most appropriate SYNONYM of the below mentioned word from the below
options.

Reasonable
&« 1. Rational
X 2. Misleading
25 3. Invalid

X 4. lllogical

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653042
6306802556628
6306802556626
6306802556627
6306802556629
Answered

1




Q.89

Ans

Comprehension:

Refer to the below passage and answer the questions

Air pollution is a pressing issue that affects human health and the environment. It is caused
by natural and human-made pollutants that enter the air, soil, and water. To address this
problem, it is crucial to implement policies that reduce pollution and for individuals to take
personal measures to reduce their impact on the environment. Apart from restricting
industrial pollution, it is also crucial to encourage every citizen to reduce their daily
contaminant emissions. The use of vehicles with low fuel efficiency is one of the primary
sources of air pollution. Also, the burning of fossil fuels, the use of various aerosol sprays,
and gas-powered household appliances can significantly impact air quality.

It is vital to instate more guidelines for the reduction of personal pollution. For example, the
Clean Air Act regulates acceptable emissions from stationary and mobile sources, including
vehicles. All new vehicles must comply with the act and not exceed the appointed standard
for fuel emissions. Thus, individuals should be encouraged to follow the Clean Air Act when
selecting fuel-powered cars. Moreover, individuals should take small measures in their
everyday life to ensure good air quality, such as limiting the use of aerosols, opting for electric
or hybrid cars, and reasonable use of electricity in one's home. Overall, these small steps will
help improve the quality of the air.

Air pollution remains a significant environmental issue that requires policies regulating
different sources of contamination. Although there are many acts aimed at reducing
dangerous emissions into the atmosphere, including the Clean Power Plan and Clean Air Act,
there are still many measures that can be implemented to improve air quality. Thus, the work
and pollutant emissions of various factories need to be addressed by the government.
Meanwhile, individuals can decrease their impact on the environment by opting for electric
vehicles, reducing the overall consumption of fossil fuels and unnecessary electricity use. It is
only through a collective effort that we can improve air quality and ensure a healthier
environment for generations to come.

SubQuestion No : 89
Select the most appropriate meaning of the word below from the below options.

Pressing

«" 1. urgent or needing to be dealt with immediately
75 2. something that someone tells you to do
25 3. an accepted principle or instruction that states the way things are or should be done

< 4.to act according to an order, set of rules, or request

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653044
6306802556634
6306802556637
6306802556636
6306802556635
Answered

3




Comprehension:

Refer to the below passage and answer the questions

Air pollution is a pressing issue that affects human health and the environment. It is caused
by natural and human-made pollutants that enter the air, soil, and water. To address this
problem, it is crucial to implement policies that reduce pollution and for individuals to take
personal measures to reduce their impact on the environment. Apart from restricting
industrial pollution, it is also crucial to encourage every citizen to reduce their daily
contaminant emissions. The use of vehicles with low fuel efficiency is one of the primary
sources of air pollution. Also, the burning of fossil fuels, the use of various aerosol sprays,
and gas-powered household appliances can significantly impact air quality.

It is vital to instate more guidelines for the reduction of personal pollution. For example, the
Clean Air Act regulates acceptable emissions from stationary and mobile sources, including
vehicles. All new vehicles must comply with the act and not exceed the appointed standard
for fuel emissions. Thus, individuals should be encouraged to follow the Clean Air Act when
selecting fuel-powered cars. Moreover, individuals should take small measures in their
everyday life to ensure good air quality, such as limiting the use of aerosols, opting for electric
or hybrid cars, and reasonable use of electricity in one's home. Overall, these small steps will
help improve the quality of the air.

Air pollution remains a significant environmental issue that requires policies regulating
different sources of contamination. Although there are many acts aimed at reducing
dangerous emissions into the atmosphere, including the Clean Power Plan and Clean Air Act,
there are still many measures that can be implemented to improve air quality. Thus, the work
and pollutant emissions of various factories need to be addressed by the government.
Meanwhile, individuals can decrease their impact on the environment by opting for electric
vehicles, reducing the overall consumption of fossil fuels and unnecessary electricity use. It is
only through a collective effort that we can improve air quality and ensure a healthier
environment for generations to come.

SubQuestion No : 90

Q.90 Identify the suitable title for the passage.

Ans X 1.Electric vehicles & its disadvantages
X 2. Vehicles and collective efforts of society
X 3.The Clean Air Act
" 4. Addressing Air Pollution: Policies and Personal Measures
Question ID : 630680653040
Option 11D : 6306802556619
Option 2 ID : 6306802556618
Option 31D : 6306802556620
Option 4 ID : 6306802556621
Status : Answered
Chosen Option : 4
Q.91 There are methods of contour surveying.
Ans  # 1.two
X 2. six
X 3. three
X 4. five
Question ID : 630680686259
Option 11D : 6306802687682
Option 2 ID : 6306802687685
Option 31D : 6306802687683
Option 4 ID : 6306802687684
Status : Answered
Chosen Option : 4




Q.92 BIM is an acronym for Building Information
Ans X 1.Moment

X 2. Measurement
" 3. Modelling
X 4. Measures

Question ID : 630680686277
Option 11D : 6306802687757
Option 2 1D : 6306802687755
Option 3 ID : 6306802687754
Option 4 ID : 6306802687756
Status : Answered
Chosen Option : 3

Q.93 Marsh watersheds are also known as watersheds.
Ans X 1.forest
/5 2. agriculture
" 3. wetland
75 4. desert
Question ID : 630680686284
Option 11D : 6306802687785
Option 21D : 6306802687782
Option 31D : 6306802687784
Option 41D : 6306802687783
Status : Answered
Chosen Option : 3
Q.94 relies on historical cost data or industry standards to calculate the overall cost based

on the quantity of units required.
Ans X 1.Costindexing

«* 2. Unit cost estimation
X 3. Quantity take-off

X 4. Parametric estimation

Question ID : 630680686458

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306802688480
6306802688478
6306802688481
6306802688479
Answered

2




Q.95

Ans

is the time a vehicle is actually in motion while traversing a given section of a
highway.

Z5 1. Operational delay
75 2. Delay
X 3. Travel time

«” 4. Running time

Question ID : 630680686446
Option 1 ID : 6306802688432
Option 2 ID : 6306802688433
Option 3 1D : 6306802688430
Option 4 ID : 6306802688431
Status : Answered
Chosen Option: 3
Q.96 Read the following about friction dampers.
A. Friction dampers are a type of specialized structural element that can be installed in
buildings to absorb seismic shock.
B. These devices are typically mounted to the walls or ceilings of a structure and are
designed to reduce the amount of energy transmitted through a building during an
earthquake.
Identify the CORRECT statement/statements.
Ans X 1.0nlyB
X 2.0nlyA
#< 3. Neither A nor B
" 4.BothAand B
Question ID : 630680686439
Option 11D : 6306802688403
Option 2 ID : 6306802688402
Option 31D : 6306802688405
Option 4 1D : 6306802688404
Status : Answered
Chosen Option : 4
Q.97 The fineness of fly ash is a measure of percentage retained on -micron sieve when a
sample is sieved through it.
Ans X 1.25
< 2.65
< 3.85
o 4.45
Question ID : 630680686488
Option 11D : 6306802688598
Option 2 ID : 6306802688600
Option 3 1D : 6306802688601
Option 4 ID : 6306802688599
Status : Answered
Chosen Option : 1




Q.98 Which of the following is a type of technical provision in detailed specifications?

Ans X 1.Savestime
/X 2. Standardized format
o” 3. Details of inspection and test
#5 4. Lengthy process of wording to be avoided
Question ID : 630680686339
Option 11D : 6306802688002
Option 2 ID : 6306802688004
Option 3 ID : 6306802688005
Option 4 ID : 6306802688003
Status : Answered
Chosen Option : 3
Q.99 was caused by the deadly strain of avian influenza and was spread due to World War
I
Ans ¥ 1. Spanish Flu
5 2. Covid-19
/5 3. Cholera Pandemic
/5 4. Flu Pandemic
Question ID : 630680686434
Option 11D : 6306802688382
Option 2 ID : 6306802688383
Option 31D : 6306802688385
Option 4 1D : 6306802688384
Status : Answered
Chosen Option: 1
Q.100 Read the following about environmental clearance.
A. Environmental Clearance is the procedure to get clearance from the government for the
installation and modification (amendment) of certain projects.
B. It is mandatory for projects which can cause high environmental Pollution.
Identify the INCORRECT statement/statements.
Ans " 1. Neither AnorB
X 2.0nlyB
/< 3.BothAandB
75 4.0nly A
Question ID : 630680686305
Option 11D : 6306802687869
Option 2 ID : 6306802687867
Option 3 1D : 6306802687868
Option 4 ID : 6306802687866
Status : Answered
Chosen Option: 3




Q.101 The is a short, descriptive text typically at or near the top of the map.

Ans X 1.source
o 2. title
/X 3.scale
X 4. legend
Question ID : 630680686392
Option 11D : 6306802688217
Option 2 ID : 6306802688215
Option 3 ID : 6306802688216
Option 4 ID : 6306802688214
Status : Answered
Chosen Option : 4
Q.102 Read the following about inertia forces in structures.
A. The generation of inertia forces in a structure is one of the seismic influences that
detrimentally affect the structure.
B. When an earthquake causes ground shaking, the base of the building would move but the
roof would be at rest.
Identify the INCORRECT statement/statements.
Ans " 1. Neither AnorB
2 2.0nly A
/X 3.BothAandB
< 4.0nlyB
Question ID : 630680686435
Option 11D : 6306802688389
Option 2 ID : 6306802688386
Option 3 ID : 6306802688388
Option 4 ID : 6306802688387
Status : Answered
Chosen Option : 3
Q.103 There is little to virtually no vegetation in
Ans X 1.agricultural watershed
#5 2. urban watershed
o« 3. desert watershed
< 4. mountainous watershed
Question ID : 630680686408
Option 11D : 6306802688278
Option 2 ID : 6306802688279
Option 3 1D : 6306802688281
Option 4 ID : 6306802688280
Status : Answered
Chosen Option: 3




Q.104 Read the following about watershed development.

A. In a country like India, where the majority of the population is engaged in livelihoods

largely dependent on the natural resource such as agriculture, factors like quality,

availability and access to natural resources occupy a crucial role in influencing incomes

earned by households.

B. Watershed development approach is based on conservation and appropriate
management of watershed'’s natural resources through holistic development of the

watershed.
Identify the INCORRECT statement/statements.

Ans 4" 1. Neither Anor B
< 2.BothAandB
X 3.0nlyA
X 4.0nlyB
Question ID : 630680686409
Option 11D : 6306802688285
Option 2 ID : 6306802688284
Option 31D : 6306802688282
Option 4 ID : 6306802688283
Status : Answered
Chosen Option : 2
Q.105 is designed to show the railway systems in India and is published biennially (in two
editions, English and Hindi) with corrections supplied by the Railway Board.
Ans X 1.1:3,500,000/1:2,000,000 Road Map of India
" 2.1:3,500,000 Railway Map of India
25 3.1:1,000,000 and 1:500,000 State Maps
#5 4.1:1,000,000 Worlds Aeronautical Charts
Question ID : 630680686269
Option 11D : 6306802687723
Option 2 ID : 6306802687722
Option 3 ID : 6306802687724
Option 4 ID : 6306802687725
Status : Answered
Chosen Option : 1
Q.106 Following are some of the benefits to schedule of rates.
A. Ease of estimating variations.
B. More continuity when comparing returned tenders.
C. Tendering works before detailed design is carried out.
Which of the following is/are CORRECT?
Ans " 1.A/BandC
X 2.0nlyA
/X 3.BothAandC
/X 4.BothAandB
Question ID : 630680686341
Option 11D : 6306802688013
Option 2 ID : 6306802688010
Option 31D : 6306802688011
Option 4 ID : 6306802688012
Status : Answered
Chosen Option: 3




Q.107 Read the following about the main purposes of a cost plan for building maintenance.

A. Determine the target cost limit for maintaining programme works.

B. Inform setting the annualised maintenance budgets and available funding constraint.

Identify the INCORRECT statement/statements.

Ans X 1.0nlyB
" 2. Neither Anor B
X 3.0nlyA
< 4.BothAandB
Question ID : 630680686359
Option 11D : 6306802688083
Option 2 ID : 6306802688085
Option 3 1D : 6306802688082
Option 4 ID : 6306802688084
Status : Answered
Chosen Option : 4
Q.108 The cyclone is also known as the “Arctic hurricane” in the Northern Hemisphere.
Ans o 1.polar
X 2. extratropical
X 3. meso
< 4. tropical
Question ID : 630680686433
Option 11D : 6306802688380
Option 2 1D : 6306802688381
Option 3 1D : 6306802688378
Option 4 ID : 6306802688379
Status : Answered
Chosen Option: 1
Q.109 The masonry wall between the columns and beams of a frame structure is known as .
Ans X 1.Reinforced masonry
/5 2. Stabilized Mud block
/X 3. Un-reinforced masonry
" 4. Masonry In-fill
Question ID : 630680686317
Option 11D : 6306802687915
Option 2 ID : 6306802687917
Option 31D : 6306802687916
Option 4 ID : 6306802687914
Status : Answered
Chosen Option: 3




Ans

Q.110 Read the following about DGPS.

A. Differential correction is a technique that greatly increases the accuracy of the collected

DGPS data.

B. It involves using a receiver at a known location - the “base station”- and comparing that

data with DGPS positions collected from unknown locations with “roving receivers”.
Identify the CORRECT statement/statements.

X 1.0nlyA
/5 2. Neither A nor B

" 3.BothAand B

X 4.0nlyB
Question ID : 630680686384
Option 11D : 6306802688182
Option 2 ID : 6306802688185
Option 3 ID : 6306802688184
Option 4 ID : 6306802688183
Status : Answered
Chosen Option: 3
Q.111 GRIHA provides a rating of up to stars for green buildings and dispenses points
based on criteria’s met by any builder.
Ans X 1.three
X 2. four
X 3.two
o 4. five
Question ID : 630680686307
Option 11D : 6306802687876
Option 2 ID : 6306802687875
Option 3 ID : 6306802687877
Option 4 ID : 6306802687874
Status : Answered
Chosen Option : 4
Q.112 The chain is composed of 100 or pieces of galvanized mild steel wire called links,
joined together with oval rings and handles at both ends.
Ans X 1.200
X 2.50
X 3.250
o 4.150
Question ID : 630680686377
Option 11D : 6306802688156
Option 2 ID : 6306802688154
Option 3 ID : 6306802688157
Option 4 ID : 6306802688155
Status : Answered
Chosen Option : 4




Q.113 There are levels of coastal flooding.

Chosen Option :

Ans X 1.five
X 2.two
o 3. three
X 4. four
Question ID : 630680686310
Option 11D : 6306802687886
Option 21D : 6306802687889
Option 31D : 6306802687888
Option 41D : 6306802687887
Status : Answered
Chosen Option : 4
Q.114 Which of the following is the first step for the construction of roads?
Ans X 1. Demolition and removal
o 2. Preliminary planning
#5 3. Ground levelling
5 4. Application of asphalt
Question ID : 630680686323
Option 11D : 6306802687939
Option 21D : 6306802687938
Option 31D : 6306802687941
Option 41D : 6306802687940
Status : Answered
Chosen Option : 2
Q.115 Into how many types can cracking of buildings be classified?
Ans X 1.Three
< 2.Five
o 3. Two
X 4. Four
Question ID : 630680686360
Option 11D : 6306802688087
Option 21D : 6306802688089
Option 31D : 6306802688086
Option 41D : 6306802688088
Status : Answered

1




Q.116 Read the following about Climate change.

A. Climate change is a great concern in today’s scenario.
B. Greenhouse gases are the major cause of climate change.
Identify the CORRECT statement/statements.

Ans X 1. Neither A nor B
" 2. BothAandB
X 3.0nlyB

< 4.0nly A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

630680686295
6306802687829
6306802687828
6306802687827
6306802687826
Answered

Chosen Option : 2

Q.117 The average pace length may be taken as

Chosen Option :

Ans X 1.60cm
o 2.80cm
2 3.40cm
< 4.100 cm
Question ID : 630680686256
Option 1 ID : 6306802687671
Option 2 1D : 6306802687672
Option 3 1D : 6306802687670
Option 4 ID : 6306802687673
Status : Answered
Chosen Option : 3
Q.118 Read the following about the effects of land pollution.
A. Land pollution can harm the human body in a variety of ways.
B. Disposal of hazardous radioactive wastes also contributes to land contamination.
Identify the INCORRECT statement/statements.
Ans X 1.BothAandB
/X 2.0nlyB
X 3.0nlyA
& 4. Neither Anor B
Question ID : 630680686301
Option 11D : 6306802687852
Option 2 ID : 6306802687851
Option 3 ID : 6306802687850
Option 4 ID : 6306802687853
Status : Answered

1




Ans

% 2.LDM
% 3.GPS

/X 4. Total station

Q.119 Which of the following is NOT an advanced surveying instrument?
" 1. Plane table

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

630680686487
6306802688596
6306802688595
6306802688594
6306802688597
Answered

Chosen Option : 1

Ans

X 1.70
o 2.50
X 3.60
X 4.40

metres.

Q.120 In high mountains and in areas compiled from unreliable material, hypsometric and aneroid
heights to the nearest

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686387
6306802688197
6306802688195
6306802688196
6306802688194
Answered

1

Ans

Q.121 Following are the disadvantages of schedule of rates.

A. Additional resource required to measure work.

B. Less cost assurance for the client.

C. Difficulty for contractors to plan resources long-term.
Which of the following is/are CORRECT?

X 1.BothAandC

X 2.0nlyA

« 3.A,BandC
/< 4.BothAandB

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680686461
6306802688491
6306802688490
6306802688493
6306802688492
Answered

3




Q.122 In high mountains and in areas compiled from unreliable material, clinometric heights

Chosen Option :

should be rounded off to the nearest metres.
Ans X 1.2
X 24
o 3.5
X 4.3
Question ID : 630680686267
Option 1 ID : 6306802687717
Option 2 ID : 6306802687715
Option 31D : 6306802687714
Option 4 ID : 6306802687716
Status : Answered
Chosen Option: 3
Q.123 Fixed-price contracts are also known as
Ans  # 1. Lump-sum contracts
X 2. Cost-plus contracts
25 3. Unit pricing contracts
/X 4. Time & materials contracts
Question ID : 630680686354
Option 11D : 6306802688064
Option 2 ID : 6306802688062
Option 31D : 6306802688065
Option 4 1D : 6306802688063
Status : Answered
Chosen Option: 3
Q.124 Read the following about License Plate Studies.
A. This study is done using cameras that captures license plates and tracks the movement
of the vehicle based on the license plate.
B. This study is best suited for projects where counting all trips is ideal, such as assessing
cut-through traffic.
Identify the INCORRECT statement/statements.
Ans X 1.Both AandB
75 2.0nly A
¥ 3. Neither Anor B
< 4.0nlyB
Question ID : 630680686444
Option 1 1D : 6306802688424
Option 2 ID : 6306802688422
Option 31D : 6306802688425
Option 4 1D : 6306802688423
Status : Answered

1




Q.125 The ITC Green Centre of

Ans

" 1. Gurgaon

X 2. Kolkata

#5 3. Madhya Pradesh
/X 4.Bangalore

is an example of Green Building in India.

Question ID : 630680686426
Option 11D : 6306802688350
Option 2 1D : 6306802688352
Option 31D : 6306802688351
Option 4 ID : 6306802688353
Status : Answered
Chosen Option : 1

Q.126 The distance in pacing can be obtained by

Ans

length of the pace.
< 1. subtracting

< 2. dividing
/< 3. adding

& 4. multiplying

the number of paces with the average

Question ID : 630680686376
Option 11D : 6306802688152
Option 21D : 6306802688153
Option 31D : 6306802688151
Option 41D : 6306802688150
Status : Answered
Chosen Option : 2

Q.127 Laminated timber is also known as .

Ans

X 1. Cork

X 2.Bamboo

X 3.Cob

" 4. Mass timber

Question ID : 630680686369
Option 11D : 6306802688125
Option 21D : 6306802688122
Option 31D : 6306802688124
Option 41D : 6306802688123
Status : Answered
Chosen Option : 4




Q.128 Which of the following is NOT the requirement of a good alignment?

75 2. Mesh filter
¥ 3. Catchment
5 4. Conduit

Ans X 1.Easy
X 2. Economical
" 3. Long
X 4. Safe
Question ID : 630680686453
Option 11D : 6306802688458
Option 21D : 6306802688461
Option 31D : 6306802688459
Option 41D : 6306802688460
Status : Answered
Chosen Option : 1
Q.129 of rainwater harvesting is the surface that receives rainfall directly.
Ans X 1.Gutter

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680686287
6306802687795
6306802687796
6306802687794
6306802687797
Answered

4

Ans

Q.130 Noise becomes harmful when it exceeds 75 decibels (dB) and is painful above

o 1.120
X 2.140

< 3.80
X 4.100

dB.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686419
6306802688324
6306802688325
6306802688322
6306802688323
Answered

2




Q.131 Read the following about construction equipment management.

minimal expenses for the company.

more than it costs to own, operate, maintain, store and use the machine.
Identify the INCORRECT statement/statements.

Ans X 1.0nlyB
/X 2.BothAandB
X 3.0nlyA
" 4. Neither Anor B

A. A construction equipment manager needs to be able to take practical decisions with
regards to management of the construction equipment to ensure maximum benefits with

B. Construction equipment should ideally pay for themselves by helping the owner earn

Chosen Option :

Question ID : 630680686475
Option 11D : 6306802688547
Option 2 ID : 6306802688548
Option 3 ID : 6306802688546
Option 4 ID : 6306802688549
Status : Answered
Chosen Option : 2
Q.132 Who of the following professionals do not use CAD?
Ans X 1.Drafters
/5 2. Product designers
o 3. School teachers
/5 4. Engineers
Question ID : 630680686398
Option 11D : 6306802688239
Option 2 ID : 6306802688241
Option 3 1D : 6306802688238
Option 4 ID : 6306802688240
Status : Answered
Chosen Option: 3
Q.133 reconnaissance provides a comprehensive view of potential alignments, aiding in the
identification of factors influencing the rejection or modification of alignments.
Ans X 1. Study of sheets
& 2. Aerial
/5 3. Ground
X 4. Study of maps
Question ID : 630680686254
Option 11D : 6306802687665
Option 2 ID : 6306802687663
Option 3 ID : 6306802687662
Option 4 ID : 6306802687664
Status : Answered

1




Q.134 Which of the following is the last stage of tendering process?

Ans  &# 1. Award of contract
/X 2. Evaluation of the tender submissions
/X 3. Advertising the requirement

Z5 4. Invitation to Tender (ITT)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686472
6306802688534
6306802688537
6306802688535
6306802688536
Answered

1

Q.135 A 3D laser scanner operates much like the reflector less to collect the 3D coordinates
(x, y, and z coordinates) of a specific environment entirely with just a single device to
produce a high-resolution point cloud.

Ans X 1.tapes

& 2. total stations

X 3. dumpy levels

/X 4. theodolites
Question ID : 630680686372
Option 11D : 6306802688135
Option 2 ID : 6306802688136
Option 3 ID : 6306802688134
Option 4 ID : 6306802688137

Status : Answered
Chosen Option: 2
Q.136 schedules are commonly used for routine tasks and ongoing responsibilities.
Ans X 1.Timeline

" 2. Traditional

/X 3. Delay

X 4. Event
Question ID : 630680686356
Option 11D : 6306802688073
Option 2 ID : 6306802688070
Option 3 1D : 6306802688071
Option 4 ID : 6306802688072

Status : Answered
Chosen Option : 4




Q.137 PPE is the short form for
Ans X 1.Primary

Protective Equipment.

o 2. Personal
/X 3. Projection

X 4. Project
Question ID : 630680686486
Option 11D : 6306802688593
Option 21D : 6306802688590
Option 31D : 6306802688592
Option 41D : 6306802688591
Status : Answered
Chosen Option : 1
Q.138 Which of the following is the first stage of tendering process?
Ans X 1. Invitation to Tender (ITT)
75 2. Award of contract
Z5 3. Evaluation of the tender submissions
¥ 4. Advertising the requirement
Question ID : 630680686352
Option 11D : 6306802688054
Option 21D : 6306802688057
Option 31D : 6306802688056
Option 41D : 6306802688055
Status : Answered
Chosen Option : 1
Q.139 Max permissible values as per IRC for motor vehicle other than transport and not having
more than 2 axles is
Ans X 1.85m
X 2.65m
X 3.75m
o 4.95m
Question ID : 630680686449
Option 11D : 6306802688444
Option 21D : 6306802688442
Option 31D : 6306802688443
Option 4 1D : 6306802688445
Status : Answered
Chosen Option: 3




Q.140 Following are the causes of construction site accidents.

A. Lack of fall protection for workers on elevated structures.

B. Lack of protection for people on the ground from falling objects.
C. Tripping hazards from construction materials and debris.

Which of the following is/are CORRECT?

Ans X 1.BothAandC
w 2.A,BandC
/< 3.Both Aand B
X 4.0nlyA

Question ID : 630680686365
Option 11D : 6306802688107
Option 2 1D : 6306802688109
Option 31D : 6306802688108
Option 4 ID : 6306802688106
Status : Answered
Chosen Option: 3

Q.141 rent refers to the price paid for the use of the homogeneous land when its supply is

limited in relation to demand.
Ans X 1. Economic

X 2. Differential

¥ 3. Scarcity
X 4. Gross

Question ID : 630680686351
Option 11D : 6306802688052
Option 2 ID : 6306802688051
Option 3 1D : 6306802688050
Option 4 ID : 6306802688053
Status : Answered
Chosen Option : 1

Q.142 is one of the most hazardous gases emitted during agricultural activities.
Ans X 1. Sulphur Dioxide

X 2. Methane
Z5 3. Nitrogen Oxide
" 4. Ammonia

Question ID : 630680686418

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306802688319
6306802688318
6306802688321
6306802688320
Answered

2




Q.143 Read the following about external reinforcement.

reinforce them and make them more resistant to shaking.
Identify the CORRECT statement/statements.

Ans X 1.0nlyB
w" 2.BothAand B
X 3.0nlyA
< 4. Neither A nor B

A. Exterior reinforcement is a common way to reduce the damage caused by an earthquake.
B. This technique involves adding steel or concrete structures to the exterior of buildings to

Question ID : 630680686319
Option 1 1D : 6306802687923
Option 2 ID : 6306802687924
Option 31D : 6306802687922
Option 4 ID : 6306802687925
Status : Answered
Chosen Option : 2
Q.144 Contour lines with U-shape with convexity towards lower ground indicate
Ans X 1. hills
/X 2. steep slope
" 3.ridge
X 4.pond
Question ID : 630680686379
Option 1 ID : 6306802688165
Option 2 ID : 6306802688163
Option 31D : 6306802688164
Option 4 1D : 6306802688162
Status : Answered
Chosen Option : 4
Q.145 are those maps that represent the relief and terrain.
Ans X 1. Economic maps
X 2. Planimetric maps
" 3. Hypsometric maps
X 4. Population maps
Question ID : 630680686394
Option 11D : 6306802688224
Option 2 ID : 6306802688223
Option 3 ID : 6306802688222
Option 4 ID : 6306802688225
Status : Answered
Chosen Option: 3




Q.146 Read the following about market approach.

Ans

A. The market approach means a unique valuation method that allows one to determine the

actual value of any asset based on other similar asset types having similar features.

B. One important aspect of the market data approach is the usage of prices of assets rather

than the size of assets adjusted for quantities.
Identify the INCORRECT statement/statements.

< 1.BothAandB

X 2.0nlyB
" 3. Neither Anor B

X 4.0nlyA

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686344
6306802688024
6306802688023
6306802688025
6306802688022
Answered

1

Q.147 Earthquake causes shaking of the ground in all the directions.
Ans X 1.four

X 2. two

o 3. three

X 4. five
Question ID : 630680686315
Option 11D : 6306802687908
Option 2 ID : 6306802687906
Option 3 ID : 6306802687907
Option 4 ID : 6306802687909

Status : Answered
Chosen Option : 3
Q.148 Which of the following is the last step of road construction?
Ans & 1. Finalroll

/5 2. Application of asphalt

#5 3. Ground levelling

5 4. Pouring of binder layer
Question ID : 630680686443
Option 11D : 6306802688420
Option 2 ID : 6306802688418
Option 3 1D : 6306802688419
Option 4 ID : 6306802688421

Status : Answered
Chosen Option : 4




Q.149 Following are the sources of water for recharge.

A. Precipitation (rainfall) over the demarcated area.

B. Large roof areas from where rainwater can be collected and diverted for recharge.
C. Canals from large reservoirs from which water can be made available for recharge.
Which of the following is/are CORRECT?

/< 1.BothBandC

75 2.0nly A
< 3.BothAandC

Ans

o 4. A BandC
Question ID : 630680686283
Option 1 ID : 6306802687780
Option 2 ID : 6306802687778
Option 31D : 6306802687779
Option 4 1D : 6306802687781
Status : Answered
Chosen Option : 4
Q.150 Read the following about income approach.
A. The income approach, under the specific context of real estate valuation, is a method
used by appraisers to determine a property’s market value based on its income.
B. The income approach, or “capitalization approach”, states that the value of an investment
property is a function of the quality and quantity of the income it is expected to generate.
Identify the INCORRECT statement/statements.
Ans " 1. Neither AnorB
75 2.0nly A
/< 3.0nly B
X 4.BothAandB
Question ID : 630680686463
Option 11D : 6306802688501
Option 2 ID : 6306802688498
Option 31D : 6306802688499
Option 4 ID : 6306802688500
Status : Answered
Chosen Option : 4
Q.151 Read the following about the main purposes of a cost plan for building maintenance.
A. Provide cost information to assist decision makers to make informed decisions.
B. Inform what asset investment are funded or not funded and then revise life cycle cost
plan.
Identify the CORRECT statement/statements.
Ans X 1.0nlyA
X 2.0nlyB
" 3.BothAandB
< 4. Neither A nor B
Question ID : 630680686479
Option 11D : 6306802688562
Option 2 ID : 6306802688563
Option 3 ID : 6306802688564
Option 4 ID : 6306802688565
Status : Answered
Chosen Option : 3




Q.152 The objective of

audit is to recognize fraud cases, control and decrease instances of
fraud through the application of suggestions and recommendations and internal Audit
control in the entity.

Ans X 1.external
X 2. tax
o 3. forensic
/X 4. statutory
Question ID : 630680686423
Option 11D : 6306802688339
Option 2 ID : 6306802688341
Option 31D : 6306802688338
Option 4 1D : 6306802688340
Status : Answered
Chosen Option: 2
Q.153 coat is a thin surface treatment used to water-proof the surface and to provide skid
resistance.
Ans X 1.Surface
” 2. Seal
X 3. Prime
X 4. Tack
Question ID : 630680686332
Option 11D : 6306802687977
Option 2 ID : 6306802687974
Option 3 ID : 6306802687975
Option 4 ID : 6306802687976
Status : Answered
Chosen Option : 3
Q.154 Read the following about the significance of environment in human life.
A. Environmental resources, which include both renewable and non-renewable resources,
are available for use in the production of goods and services.
B. The environment includes the elements of sunlight, water, air, and soil, all of which are
essential for human survival.
Identify the CORRECT statement/statements.
Ans  # 1.BothAandB
< 2.0nly A
X 3. Neither A nor B
< 4.0nlyB
Question ID : 630680686293
Option 11D : 6306802687820
Option 2 ID : 6306802687818
Option 3 ID : 6306802687821
Option 4 ID : 6306802687819
Status : Answered
Chosen Option : 1




Ans

Q.155

uses mathematical models and statistical analysis to estimate project costs.
#5< 1. Unit Cost estimation

X 2. Cost indexing
& 3. Parametric estimation

5 4. Quantity Take-off

Question ID : 630680686337
Option 11D : 6306802687996
Option 2 ID : 6306802687997
Option 3 ID : 6306802687995
Option 4 ID : 6306802687994
Status : Answered
Chosen Option : 1
Q.156 As a line-of-sight, non-contact device, laser scanners can successfully get hold of 3D
measurements with up to accuracy.
Ans X 1.2mm
o 2.1 mm
X 3.3mm
X 4.4mm
Question ID : 630680686491
Option 11D : 6306802688611
Option 2 ID : 6306802688610
Option 31D : 6306802688612
Option 4 ID : 6306802688613
Status : Answered
Chosen Option : 1
Q.157 The objective of audit is to check whether the Financial Statements prepared by the
Management provide an accurate and fair view.
Ans X 1.internal
" 2. external
/X 3. forensic
X 4. statutory
Question ID : 630680686303
Option 11D : 6306802687859
Option 2 ID : 6306802687858
Option 3 ID : 6306802687860
Option 4 ID : 6306802687861
Status : Answered
Chosen Option : 1




Q.158 The full form of NPV is Net Present
< 1. Valuation

Ans
" 2. Value
X 3. Vault
X 4. Volt

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686470
6306802688526
6306802688527
6306802688528
6306802688529
Answered

1

Q.159 Read the following about Obligatory points.

B. The obligatory points are responsible for the deviation of highway.
Identify the CORRECT statement/statements.

75 1. Neither A nor B
75 2.0nly A

/< 3.0nly B
o 4.BothAand B

Ans

A. Obligatory points are the controlling points that govern the highway alignments.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686454
6306802688465
6306802688462
6306802688463
6306802688464
Answered

4

Q.160 In the real estate market, there are
X 1.two

X 2. four

X 3. five

o 4. three

physical characteristics of land.

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680686346
6306802688030
6306802688032
6306802688033
6306802688031
Answered

2




Ans

Q.161 Read the following about the effects of land pollution.

A. Land contamination, such as that caused by mining, farming, and factories, may allow

harmful chemicals to enter the soil and water.

B. These chemicals have the potential to kill animals and plants, destroying the food chain.

Identify the CORRECT statement/statements.
75 1. Neither A nor B

w" 2.BothAand B

< 3.0nlyB
X 4.0nlyA
Question ID : 630680686421
Option 11D : 6306802688333
Option 2 ID : 6306802688332
Option 31D : 6306802688331
Option 4 ID : 6306802688330
Status : Answered
Chosen Option : 2
Q.162 A Y-junction has three arms of which all the roads are of equal sizes.
Ans X 1.four
X 2. two
o 3. three
X 4. five
Question ID : 630680686455
Option 11D : 6306802688468
Option 2 ID : 6306802688466
Option 31D : 6306802688467
Option 4 ID : 6306802688469
Status : Answered
Chosen Option: 2
Q.163 Following are the limitations of DGPS.
A. International Limitation of Accuracy
B. Receiver Independent Exchange Format
C. Reference System Co-ordinates
Which of the following is/are CORRECT?
Ans o 1. A BandC
< 2.BothBandC
/< 3.BothAandC
75 4.0nly A
Question ID : 630680686264
Option 11D : 6306802687705
Option 2 ID : 6306802687704
Option 3 1D : 6306802687703
Option 4 ID : 6306802687702
Status : Answered
Chosen Option : 1




Q.164
Ans

/< 1. Ear plugs
X 2.Boots
/X 3.Gloves

provides signal of the presence of the user in places and events.

" 4. Reflective Gear

Question ID : 630680686483
Option 11D : 6306802688578
Option 2 1D : 6306802688579
Option 31D : 6306802688580
Option 4 1D : 6306802688581
Status : Answered
Chosen Option : 4
Q.165 Which gas is released into the air and influence global cooling due to volcanic eruptions?
Ans X 1.0xygen
«" 2. Sulphur Dioxide
Z5 3. Carbon Dioxide
5 4. Nitrogen Oxide
Question ID : 630680686296
Option 11D : 6306802687830
Option 2 1D : 6306802687833
Option 31D : 6306802687832
Option 4 1D : 6306802687831
Status : Answered
Chosen Option: 3
Q.166 There are main methods of interpolation of contours.
Ans X 1.two
X 2. four
o 3. three
X 4. five
Question ID : 630680686261
Option 11D : 6306802687690
Option 21D : 6306802687692
Option 31D : 6306802687691
Option 4 1D : 6306802687693
Status : Answered
Chosen Option : 4




Ans

Q.167 A

X 1. logarithmic
o 2. linear

< 3. exponential

scale is the most common type of scale.

/X 4. diagonal
Question ID : 630680686273
Option 11D : 6306802687738
Option 2 ID : 6306802687741
Option 3 ID : 6306802687740
Option 4 ID : 6306802687739
Status : Answered
Chosen Option : 2
Q.168 The Asphalt Institute recommends a - to 5-day curing period under good conditions
when emulsified bases are being constructed.
Ans 1.2
X 2.4
X 3.3
X 4.1
Question ID : 630680686331
Option 11D : 6306802687971
Option 2 ID : 6306802687973
Option 31D : 6306802687972
Option 4 1D : 6306802687970
Status : Answered
Chosen Option: 3
Q.169 Read the following about special considerations in Depreciated Replacement Cost.
A. When calculating the replacement cost of an asset, a company must account for
depreciation costs.
B. A business capitalizes an asset purchase by posting the cost of a new asset to an asset
account, and the asset account is depreciated over the asset’s useful life.
Identify the CORRECT statement/statements.
Ans  # 1.BothAandB
25 2. Neither A nor B
< 3.0nlyB
X 4.0nlyA
Question ID : 630680686469
Option 11D : 6306802688524
Option 2 ID : 6306802688525
Option 31D : 6306802688523
Option 4 1D : 6306802688522
Status : Answered
Chosen Option : 1




Q.170 Read the following about base isolation.

A. Base Isolation is easiest to incorporate in the design of new construction.

B. This seismic design strategy involves separating the building from the foundation and

acts to absorb shock.
Identify the CORRECT statement/statements.

Ans X 1. Neither A nor B
w" 2.BothAand B
< 3.0nlyB
X 4.0nlyA
Question ID : 630680686429
Option 11D : 6306802688365
Option 2 ID : 6306802688364
Option 31D : 6306802688363
Option 4 ID : 6306802688362
Status : Answered
Chosen Option : 2
Q.171 experiences perhaps the most dynamically significant land-use change.
Ans X 1. Desert watershed
& 2. Agricultural watershed
/5 3. Mountainous watershed
X 4. Urban watershed
Question ID : 630680686404
Option 1 ID : 6306802688265
Option 2 ID : 6306802688262
Option 31D : 6306802688264
Option 4 ID : 6306802688263
Status : Answered
Chosen Option : 1
Q.172 The maximum net intensity of loading at the base of the foundation that soil can support
before failing in shear is called the
Ans X 1. Ultimate bearing capacity
/X 2. Bearing capacity
/X 3. Gross safe bearing capacity
o« 4. Net safe bearing capacity
Question ID : 630680686400
Option 11D : 6306802688246
Option 2 ID : 6306802688247
Option 3 ID : 6306802688249
Option 4 ID : 6306802688248
Status : Answered
Chosen Option : 4




Q.173 The full form of EIA is Environmental Assessment.
Ans 1. Impact
X 2. Improvement
X 3. Improving
75 4. Introduction
Question ID : 630680686424
Option 11D : 6306802688344
Option 2 ID : 6306802688342
Option 3 ID : 6306802688343
Option 4 ID : 6306802688345
Status : Answered
Chosen Option : 1
Q.174 flooding begins within 6 hours of the start of heavy rainfall, and is often caused by
severe thunderstorms, hurricanes, tropical storms or other weather patterns.
Ans X 1. Coastal
< 2. River
#5 3. Fluvial
" 4. Pluvial
Question ID : 630680686430
Option 11D : 6306802688369
Option 2 1D : 6306802688368
Option 31D : 6306802688366
Option 4 1D : 6306802688367
Status : Answered
Chosen Option : 1
Q.175 Read the following about cost optimization.
A. Cost optimization is a process that should be carried out throughout the construction
period to ensure that the cost of the project is within an allotted budget.
B. Time and cost are the two most significant factors in any construction project.
Identify the CORRECT statement/statements.
Ans X 1.0nlyB
75 2. Neither A nor B
X 3.0nlyA
o« 4. BothAand B
Question ID : 630680686358
Option 11D : 6306802688079
Option 2 ID : 6306802688081
Option 3 1D : 6306802688078
Option 4 ID : 6306802688080
Status : Answered
Chosen Option : 4




Q.176 A discrete LiDAR system may record

returns from each laser pulse.

Ans X 1.1-13+
o 2.1-11+
<3112+
X 4114+
Question ID : 630680686385
Option 11D : 6306802688188
Option 2 ID : 6306802688186
Option 3 1D : 6306802688187
Option 4 ID : 6306802688189
Status : Answered
Chosen Option : 2
Q.177 Read the following about the conservation of rivers.
A. The conservation of the river ecosystem is non-transferable now.
B. A reasonable legal protection mechanism working hand in hand with the existing statutes
must be instituted for the protection of rivers.
Identify the CORRECT statement/statements.
Ans X 1.0nly A
/X 2.0nlyB
" 3.BothAand B
X 4. Neither A nor B
Question ID : 630680686410
Option 1 ID : 6306802688286
Option 2 ID : 6306802688287
Option 31D : 6306802688288
Option 4 1D : 6306802688289
Status : Answered
Chosen Option : 2
Q.178 Closely spaced contour lines indicate slope.
Ans 1. steep
X 2. uniform
X 3.gentle
X 4. equal
Question ID : 630680686378
Option 11D : 6306802688159
Option 2 ID : 6306802688161
Option 3 ID : 6306802688158
Option 4 ID : 6306802688160
Status : Answered
Chosen Option: 3




Q.179 A collects the filtered water for future use.
Ans X 1.conduit

X 2. gutter
#X 3. first flush device

o 4. storage tank

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686412
6306802688296
6306802688297
6306802688295
6306802688294
Answered

1

Q.180 Who of the following do not use the CAD software?
Ans X 1.Interior designers

75 2. Fashion Designers
«” 3. Doctors

X 4. Architects

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680686278
6306802687758
6306802687761
6306802687760
6306802687759
Answered

3

Q.181 Which type of parking can accommodate maximum number of vehicles for a given kerb

length?
Ans X 1. Sixty degree

X 2. Parallel
X 3. Forty five degree
" 4. Right angle

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686328
6306802687961
6306802687959
6306802687960
6306802687958
Answered

3




Q.182 Read the following about Implementing Green Initiatives to minimize operation costs in

buildings.

A. Building owners who adopt environmentally friendly practices often see meaningful
savings in operating costs, especially over the long term.

B. Upfront investments in infrastructure like solar panels, green roofs, or more efficient
equipment can pay off over a building’s life span.

Identify the INCORRECT statement/statements.

Ans X 1.BothAandB
< 2.0nly A
o" 3. Neither Anor B
< 4.0nlyB
Question ID : 630680686362
Option 11D : 6306802688096
Option 2 ID : 6306802688094
Option 3 ID : 6306802688097
Option 4 ID : 6306802688095
Status : Answered
Chosen Option : 1
Q.183 is the time taken by a vehicle to traverse a given section of a highway.
Ans X 1.Operational delay
#5< 2. Running time
/X 3. Delay
o 4. Travel time
Question ID : 630680686326
Option 11D : 6306802687953
Option 2 ID : 6306802687952
Option 3 ID : 6306802687951
Option 4 ID : 6306802687950
Status : Answered
Chosen Option : 2
Q.184 When the lender assures the borrower that the rate of interest will remain the same
throughout the loan period is called Mortgage
Ans X 1.Simple
o 2. Fixed-Rate
/5 3.English

X 4. Anomalous

Question ID : 630680686468
Option 1 1D : 6306802688520
Option 2 ID : 6306802688518

Option 31D :
Option 41D :
Status :

Chosen Option :

6306802688519
6306802688521
Answered

2




Q.1851Ina

because of the high pressure.

the water level in a bore will rise to a level higher than the top of the aquifer

Ans X 1.unconfined aquifer
X 2. perched aquifer
& 3. confined aquifer
X 4. aquitard
Question ID : 630680686402
Option 11D : 6306802688254
Option 2 1D : 6306802688257
Option 3 1D : 6306802688256
Option 4 ID : 6306802688255
Status : Answered
Chosen Option : 3
Q.186 fires usually advance far faster than lower level fires.
Ans  # 1.crown
< 2. rapid
/5 3. surface
X 4. ground
Question ID : 630680686432
Option 11D : 6306802688374
Option 2 ID : 6306802688377
Option 3 1D : 6306802688376
Option 4 ID : 6306802688375
Status : Answered
Chosen Option: 3
Q.187 is not an example of a producer.
Ans X 1.Plants
X 2. Green algae
" 3. Parasite
X 4. Algae
Question ID : 630680686294
Option 11D : 6306802687823
Option 2 ID : 6306802687825
Option 3 1D : 6306802687822
Option 4 ID : 6306802687824
Status : Answered
Chosen Option : 2




Q.18

Ans

8 Read the following about optical methods for measurements in surveying.

A. It is done with a Tacheometer, which works on the principle of optics.
B. The instrument is ideal when the ground is not suitable for surveying (uneven).
Identify the CORRECT statement/statements.

#5 1. Neither A nor B
X 2.0nlyA

« 3.BothAandB
/< 4.0nly B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

630680686257
6306802687677
6306802687674
6306802687676
6306802687675
Answered

Chosen Option: 3

Ans

property by
from the result.

X 1. dividing
/X 2. subtracting

&" 3. adding
X 4. multiplying

Q.189 The cost approach definition refers to a valuation technique in which an appraiser values a
construction costs and the land value and then deducting depreciation

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680686345
6306802688029
6306802688028
6306802688027
6306802688026
Answered

3

Ans

Q.190 Read the following about the economic aspects of land.

A. Land is viewed in economic terms as a factor of production.

B. This asset value has many uses, ranging for example, from security for mortgage loans

to use as a tax base.
Identify the INCORRECT statement/statements.

< 1.0nlyB

X 2.0nlyA

< 3.Both Aand B
" 4. Neither Anor B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680686467
6306802688515
6306802688514
6306802688516
6306802688517
Answered

3




Q.191 The representation of town on
geometric figure.

< 1.1:1,00,000
< 2.1:1,000

7< 3.1:10,000
« 4.1:1,000,000

might be confined to a point symbol such as a

Ans

Question ID :
Option 11D :
Option 21D :

Option 3 1D
Option 4 ID
Status

630680686388
6306802688200
6306802688198

: 6306802688199
1 6306802688201
: Answered

Chosen Option: 3

Q.192 Read the following about retrofitting.

can be completed in just a few weeks with minimal disruption to the occupants.
Identify the INCORRECT statement/statements.

A. Retrofitting allows existing structures to be fortified against the forces of an earthquake.
B. It is a cost-effective way to improve the seismic performance of an older building, and it

Ans X 1.BothAandB

X 2.0nlyB

X 3.0nlyA

" 4. Neither Anor B
Question ID : 630680686321
Option 11D : 6306802687932
Option 2 ID : 6306802687931
Option 3 1D : 6306802687930
Option 4 ID : 6306802687933

Status : Answered
Chosen Option : 1
Q.193 is the focal point of real estate, which deals with transactions involving land and
buildings used for residential, commercial, and agricultural use.
Ans X 1. Private property

< 2. Government-owned property

/< 3. Personal property

¥ 4. Real property
Question ID : 630680686462
Option 11D : 6306802688496
Option 2 ID : 6306802688497
Option 31D : 6306802688495
Option 4 ID : 6306802688494

Status : Answered
Chosen Option : 2




Ans

Q.194 Read the following about the uses of CAD.

A. Computer-aided design is used in a wide variety of professions.
B. CAD software is used heavily within various architecture, arts and engineering projects.
Identify the INCORRECT statement/statements.

% 1.0nly A
X 2.BothAandB

«" 3. Neither A nor B

/< 4.0nly B
Question ID : 630680686396
Option 11D : 6306802688230
Option 2 ID : 6306802688232
Option 3 1D : 6306802688233
Option 4 ID : 6306802688231
Status : Answered
Chosen Option : 2
Q.195 Read the following about watershed development.
A. Watershed development refers to the conservation; regeneration and the judicious use of
all the natural resources particularly land, water, vegetation and animals and human
development within the watershed.
B. Watershed as a unit enables planners and implementing agency to consider all inputs,
processes and expected outputs systematically which are essential for a holistic
development approach.
Identify the CORRECT statement/statements.
Ans X 1.0nlyB
X 2.0nlyA
/5 3. Neither A nor B
" 4.BothAand B
Question ID : 630680686285
Option 11D : 6306802687787
Option 2 ID : 6306802687786
Option 31D : 6306802687789
Option 4 1D : 6306802687788
Status : Answered
Chosen Option : 4
Q.196 ensures that debris that was settled in the gutters before rainfall does not end up in
the rainwater harvesting system.
Ans o 1. First flush device
X 2. Mesh filter
/X 3. Catchment
5 4. Conduit
Question ID : 630680686411
Option 11D : 6306802688293
Option 2 ID : 6306802688290
Option 3 ID : 6306802688292
Option 4 ID : 6306802688291
Status : Answered
Chosen Option : 2




Q.197 A T-junction has
usually a minor road connecting the main road.

arms of which one arm is a main road whereas the other one is

Ans X 1.four
< 2. two
X 3. five
o 4. three
Question ID : 630680686335
Option 11D : 6306802687987
Option 2 ID : 6306802687989
Option 3 1D : 6306802687986
Option 4 ID : 6306802687988
Status : Answered
Chosen Option : 2
Q.198 Read the following about map layout.
A. In a map, the individual components get their meaning only with reference to the map as
a whole.
B. Map design involves the development of this integrated plan and style of the map and its
individual components, and layout involves the arrangement of these individual
components on the map.
Identify the CORRECT statement/statements.
Ans X 1.0nly A
w" 2.BothAand B
< 3.0nlyB
25 4. Neither A nor B
Question ID : 630680686391
Option 11D : 6306802688210
Option 2 ID : 6306802688212
Option 31D : 6306802688211
Option 4 ID : 6306802688213
Status : Answered
Chosen Option : 2
Q.199 UAVs are the most affordable and simple to build.
Ans X 1.Fixed-wing hybrid
" 2. Multirotor
X 3. Single rotor
X 4. Fixed-wing
Question ID : 630680686382
Option 11D : 6306802688177
Option 2 ID : 6306802688174
Option 3 ID : 6306802688176
Option 4 ID : 6306802688175
Status : Answered
Chosen Option : 4




Q.200 Read the following about the square method of measurement of areas.

A. The square method is the most common method to measure area.

graph sheet.
Identify the CORRECT statement/statements.

< 1.0nlyB
X 2.0nlyA
" 3.BothAand B

Ans

X 4. Neither A nor B

B. In this method, the area to be measured is covered by squares by placing a sheet of
graph paper beneath the map on an illuminated tracing table or by tracing the area onto the

Question ID : 630680686275
Option 11D : 6306802687747
Option 2 ID : 6306802687746
Option 3 ID : 6306802687748
Option 4 ID : 6306802687749
Status : Answered
Chosen Option: 3
Q.201 Read the following about transition curves.
A. A transition curve is a horizontal curve having a variable radius i.e., infinity at the
tangential point to the selected radius of the horizontal curve.
B. The infinite radius at the tangential point implies that the transition curve is straight at
the point where it offsets the straight road.
Identify the CORRECT statement/statements.
Ans X 1. Neither A nor B
" 2.BothAand B
/5 3.0nlyB
X 4.0nlyA
Question ID : 630680686450
Option 1 ID : 6306802688449
Option 2 ID : 6306802688448
Option 3 ID : 6306802688447
Option 4 1D : 6306802688446
Status : Answered
Chosen Option : 2
Q.202 Which of the following is NOT a benefit of 3D laser scanning?
Ans X 1.Precise Measurements
& 2. Increases health hazards
X 3. Non-Intrusive Technology
X 4. Saves Time and Effort
Question ID : 630680686371
Option 11D : 6306802688133
Option 2 ID : 6306802688130
Option 3 ID : 6306802688131
Option 4 ID : 6306802688132
Status : Answered
Chosen Option: 2




Q.203 Read the following about the importance of safety management.

A. It is essential to consider safety measures during construction projects.
B. Safety equipment and tools not only protect labourers but can risk lives as well.
Identify the CORRECT statement/statements.

Ans X 1.0nlyB
" 2.0nly A
75 3. Neither A nor B
< 4.BothAandB
Question ID : 630680686364
Option 11D : 6306802688103
Option 2 ID : 6306802688102
Option 3 1D : 6306802688105
Option 4 ID : 6306802688104
Status : Answered
Chosen Option : 2
Q.204 released by incomplete combustion of fossil fuels also results in air pollution.
Ans X 1. Methane
75 2. Oxygen
25 3. Nitrogen Oxide
¥ 4. Carbon Monoxide
Question ID : 630680686298
Option 11D : 6306802687838
Option 2 ID : 6306802687841
Option 31D : 6306802687840
Option 4 ID : 6306802687839
Status : Answered
Chosen Option : 4
Q.205 In the method of soil stabilization, stabilizers are injected into the soil for stabilizing
the soil.
Ans X 1.mass stabilization
X 2. deep mixing
X 3. electrical
" 4. grouting
Question ID : 630680686401
Option 11D : 6306802688251
Option 2 ID : 6306802688253
Option 3 ID : 6306802688252
Option 4 ID : 6306802688250
Status : Answered
Chosen Option : 4




Ans

Q.206 Intensity is the amount of damage the earthquake causes locally, which can be
level Modified Mercalli Scale (MM) where each level designates

characterized by the
a certain amount of destruction correlated to ground acceleration.

o 1.12
X 2.9
X 3.11
X 4.10

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 630680686308

1 6306802687881
1 6306802687878
1 6306802687880
: 6306802687879
Status :

Answered

Chosen Option : 1

was initiated as a joint civil/military technical programin _____.

Q.207 The Global Positioning System, formally known as the Navstar Global Positioning System,

Chosen Option :

Ans X 1.1993
< 2.1963
& 3.1973
< 4.1983
Question ID : 630680686263
Option 11D : 6306802687701
Option 2 ID : 6306802687698
Option 3 ID : 6306802687699
Option 4 ID : 6306802687700
Status : Answered
Chosen Option: 3
Q.208 The sees the specificity and detail of your schedule increase as the project deadline
approaches.
Ans X 1.PERT
¥ 2. Last Planner System
/X 3. Gantt Chart
/X 4. Resource Scheduling
Question ID : 630680686476
Option 11D : 6306802688550
Option 2 ID : 6306802688551
Option 3 1D : 6306802688552
Option 4 ID : 6306802688553
Status : Answered

1




Q.209

speed is the instantaneous speed of a vehicle at a specified location.

Ans X 1. Non-uniform

X 2. Average

" 3. Spot

75 4. Uniform
Question ID : 630680686445
Option 11D : 6306802688429
Option 2 ID : 6306802688427
Option 31D : 6306802688426
Option 4 ID : 6306802688428

Status : Answered
Chosen Option : 3
Q.210 Read the following about effects of earthquakes on buildings.

Ans

A. When a building experiences earthquake and ground shaking occurs, the base of the

building moves with the ground shaking.

B. However, the roof movement would be different from that of the base of the structure.

Identify the CORRECT statement/statements.
X 1.0nlyA
/5 2. Neither A nor B
" 3.BothAandB

X 4.0nlyB

Question ID : 630680686318
Option 11D : 6306802687918
Option 2 ID : 6306802687921
Option 31D : 6306802687920
Option 4 1D : 6306802687919
Status : Answered
Chosen Option: 3




